Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Quicklub®

Progressive Centralized Lubrication Systems
for Commercial Mineral Oils with Minimum 40 mm?%s (cST)
and Greases up to NLGI Grade 2

1111295

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

This User Manual was compiled on be half of

- the manufacturer - by
Lincoln GmbH EdiDoc GmbH
Heinrich-Hertz-Str. 2-8 Erzberger Str. 8
D-69190 Walldorf D-687 53 Waghéausel

All rights reserved.

Any duplication of this User Manual, in its entirety or in part,
by whatever means is prohibited without the prior consent in
writing of Lincoln GmbH.

Subject to modifications without prior notification.

L’NCOLN Phone: +49 (6227) 33-0
A

Fax: +49 (6227) 33-259

© E-Mail: Lincoln@lincolnindustrial.de

© 2010 by

Page 2 of 112

2.0EN-20001-J10

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Table of Contents
Page Page
Electric centralized lubrication Lines and accessories ...............cccooeieiiiiii i 62
Pump 203 .. e 4
CONVErSION SEtS ... e e 18 Accessories for centralized lubrication pumps
Identification code ...............ccooo i 19 model 203 ... 70
AsSEMblieS . ... e 23
Pump 233/223 . e 27 Pressure reducing valves
Identificationcode ... 29 Identification code............ccooiii i 72
Manometer ... e 74
Hand-operated centralized lubrication pumps Brackets .....cccooo 74

Model HP, HPG, HPGO ... i 31

Pneumatically operated centralized lubrication pumps
Model PP, PPG, PPO, PPGO .........cccoov o 32

SSV progressive metering devices and connecting
elements

Identification code ... 33
SSV Inlet fittings

= SCIEW YD oo e, 41

~PUSh-INtype ..o e, 43
Outlet fittings

= SCIEW YD oo e e 44

- Quicklinc outlet fittings, push-in type ..................... 45
CloSUTIe PIUGS ... oo e e e e e e e a7
Other fittings ..o e e, 48
Connecting elements for lube points and feed lines

Identification code for fittings ... 49

Connecting elements, screwtype......cc.cccoviein 49
Quick couplings (Quicklinc)

Identification code for quick couplings ........................ 55

QuicKinc connecting elements, push-intype ............. 55
Quicklub accessones .............cccooeiiiiiiei i 61

Technical description Quicklub Pump 203

Technical description for “Electronic control units” of
pump 203:

- Control p.c.b. 236-13891-1 - model V10-V13

- Control p.c.b. 236-13857-1 - model H

- Control p.c.b. 236-13870-1 - model M08 -M 15

- Control p.c.b. 236-13870-1 - model M 16 -M 23

Installation instructions

Electric Accessories
- for centralized lubrication pump model 203

without control unit ... 75
-for SSV metering devices ..o i 76
Accessories for SSV metering devices ...................... 80
Accessories for manually operated systems .............. 81
TOOIS ..o 83
Filler pumps
- for cartridge filling (400 cm?® cartridge)..........cccocee v . 84
Pump, hand-operated for grease up to NGLI grade 2 ...... 87
Drilling templates .......................cooooii 87
Operating instructions ... 87
Dimensions
Pump 203 e 88
Pump 223/233 ... e 94
FixXing boreholes ............ccooeei oo 100
SSVM Metering device ..........oooooiiiiiiiei e 101
Block Metering Devices

SOV e e 101

SSV D o 102
Fittings ... 103
Brackets ... 107
Weights
Pumps 203 ..o e 109
Metering DeviCes .......c.cooviiee e e 109
Lincoln worldwide ... 112

Page 3 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Electric Central Lubrication Pump Model 203: 2L, 4L, 8L and 15L

1173a95

Fig. 1-1 Assortment of electric central lubrication pumps 203

The following parts belong to the scope of delivery of the pumps 203:

Pump bottom, with motor 12 or24 VDC +  Accessories

Reservoir with/without lid (2, 4, 8, 15 liter), with grease - Pressure relief valve - must be ordered se parately

filling 0.75 kg (for 2L reservoir), 1.5 kg (for4 L, 8 L and (versions see Fig. 19-1 ff), fixing screws with accesso-

15 L reservaoir) ries, drilling template and operating instructions

Pump element(s): 1- 3 pump elements can be used - Low-level control, if any. The parts are integratedin the

The following models are available: pump bottom and in the reservoir.

- For grease or ail supply with fixed lubricant output - Power supply for the connection to 230 VAC, if any, is
K5 piston @ 5 mm; 2 cm¥min integrated in the pump bottom, possible with/ without
K6 piston @ 6 mm; 2.8 cm?¥min control p.c.b. V10-V13 or p.c.b. M08-M23
K7 piston @ 7 mm; 4 cm¥/min - ontrol p.c.b. for 12/24 VDC in the versions:

B7 piston @ 7 mm; 2 cm¥min Pump without control p.c.b. V10-V13 (V20-V23 for USA),

- For grease or oil supply with adjustable output (KR) H, M08-M23

piston @ 7 mm; 0.7 cm?- 3 cm3/min

- For supply of chisel paste (C7; S7 for synthetic grease)
piston @ 7 mm; 4 cm3¥min

Page 4 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Electric Central Lubrication Pump Model 203: 2L, 4L and 8L, continuation

Electrical connections (see identification code)

Contotpc, | oiee! | pugDi 4o | Do | AWPpug | tomeae | Secketlort | Secetior2 | el
Design A DIN 72585-1
wihout 1x 1x (4-core) 1A1.10
wihout 1x 1x (4-core) 1A5.14
wihout 1x 1A1.01
wihout 1x 1x 1x (4-core) 1A1.10
wihout 1x 2x 1x (4-core) 2A1.10
wihout 1x 2x 2A1.01
V10to V13, H 1x 1x (4-core) 1A1.10
V10to V13, H 1x 2x 1x (4-core) 2A1.10
V10to V13, H 1x 1x (4-core) 1A5.14
V10to V13, H 1x 1x 1x 4-core) 1A5.14
V10to V13, H 2x 1x (4-core) 2A1.10
V10to V13, H 1x 1x 1x (B-core) 2A7.16
V10to V13, H 1x 1x (B-core) 1A7.16
V10to V13, H 1x 1A1.01
V10to V13, H 1x 2x 2A1.01
V10to V13, H 2x 1A1.01
M08 to M 23 1x 1x 1x (5-core) 1x 2A6.15
M08 to M 23 1x 1x 1x (5-core) 1x 2A6.15
M08 to M 23 1x 1x 1x 1x (5-core) 1x 3A6.15
M08 to M 23 1x 1x 1x 1x (5-core) 1x 3A6.15
IMPORTANT
The pump part numbers listed here are only an extract of the standard pump program.
Special pumps or customized pumps are not listed, however, may be included by chance.
6001a02
Page 5 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Pump 203 DC without control p.c.b.

Reservoir for grease without low-level control; 10 m connecting cable

2.0EN-20001-J10

2 Litre

Model 12 VDC Part no. Model 24 VDC Part no.

without cable:

P203-2XN-1K6-12-1A1.10 ... 644-40613-8 P203-2XN-1K5-24-1A1.00...........cc.coii . 644-37422-1

incl. cable:

P203-2XN-1K6-12-1A1.10 ..o, 644-37456-1 P203-2XN-1K6-24-1A1.10 ..., 644-37444-1
P203-2XN-3K6-24-1A1.10 ... 644-37441-1
P203-2XN-1K7-24-1A110 ... 644-37519-1
P203-2XN-2K7-24-1A110 ..., 644-40640-1

2 Litre, flat-type reservoir

Model 12 VDC Part no.

P203-2XNFL-1K6-12-1A1.10..........ccooo . 644-37502-1

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2XNBO-1K624-1A1.10.......c..cceen . 644-40608-2
P203-2XNBO-2K6-24-1A1.10......cc..coeen . 644-40608-1
P203-2XNBO-1K724-1A1.10.......c..ccoen . 644-40608-9

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4XNBO-1K6-24-1A1.10.......c..cceen . 644-37486-1
P203-4XNBO-1K724-1A1.10..........ccco . 644-37494-1

4 Litre, with reservoir lid, chisel paste Model 24 VDC Part no.
P203-4XNBO-1C7-24-1A1.10..........cccoee . 644-40597-8

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8XNBO-1K6-24-1A1.10.......c..cooeen 644-37483-1
P203-8XNBO-3K6-24-1A1.10......cc..ccoeen . 644-40645-5
P203-8XNBO-1K724-1A1.10.......c..cooen . 644-40645-6
P203-8XNBO-3K724-1A1.10.......c..ccoen . 644-40645-8

8 Litre, with reservoir lid, chisel paste Model 24 VDC Part no.
P203-8XNBO-2C7-24-1A1.10.......c..cccoe . 644-40645-9

Reservoir for grease without low-level control; with connecting plug

2 Litre

Model 12 VDC Part no. Model 24 VDC Part no.

P203-2XN-2K6-12-1A1.01 .........coo i 644-40732-8 P203-2XN-2K5-24-1A1.01 ..., 644-40613-4
P203-2XN-1K6-24-1A1.01 ..., 644-40613-5
P203-2XN-2K6-24-1A1.01 ..o 644-40613-1
P203-2XN-3K6-24-1A1.01 ..o 644-40520-4
P203-2XN-1K7-24-1A1.01 ..o 644-40520-2
P203-2XN-3K7-24-1A1.01 ..o 644-40613-3

2 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.

P203-2XNBO-1K5-12-1A1.01..........c........ 644-40583-1 P203-2XNBO-1K524-1A1.01.......c..cccoen . 644-40540-2

P203-2XNBO-1K6-12-1A1.01..........c.o.oo.. 644-40990-5 P203-2XNBO-1K6-24-1A1.01.......c..ccoeen . 644-40540-1
P203-2XNBO-2K6-24-1A1.01.......c.oooveen 644-40540-8
P203-2XNBO-3K6-24-1A1.01.......c..cooeen . 644-40540-7
P203-2XNBO-1K724-1A1.01.......c..cceen . 644-40540-6
P203-2XNBO-2K724-1A1.01.......c..cooeen . 644-40583-9
P203-2XNBO-3K724-1A1.01.......c..cooeen . 644-405834

Page 6 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Pump P 203 DC without control p.c.b., continuation

Reservoir for grease without low-level control; with connecting plug, continuation

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4XNBO-1K5-24-1A1.01..........ccooe .. 644-40581-4
P203-4XNBO-1K6-24-1A1.01......cc..ccoeen . 644-40581-8
P203-4XNBO-2K6-24-1A1.01......cc..ccoeen 644-40597-7
P203-4XNBO-1K724-1A1.01.......c..ccoeee . 644-40581-2
P203-4XNBO-3K724-1A1.01.......c..ccoeen . 644-40600-1
P203-4XNBO-2K7 24-1A1.01.......c..ccoeen . 644-40581-3
P203-4XNBO-3K6-24-1A1.01.......c..coveen . 644-40600-4
P203-4XNBO-2K5-24-1A1.01.......c..cceen . 644-40549-7
P203-4XNBA-3K6-24-1A1.01 ..o 644-40703-9

8 Litre, with reservoir lid

Model 12VDC Part no. Model 24 VDC Part no.

P203-8XNBO-1K6-12-1A1.01..........ccoee e 644-40770-9 P203-8XNBO-3K5-24-1A1.01..........ccoeen . 644-40615-7
P203-8XNBO-1K6-24-1A1.01..........ccoeen . 644-40550-1
P203-8XNBO-3K6-24-1A1.01......cc..ccoeen 644-40666-7
P203-8XNBO-1K724-1A1.01..........ccooee .. 644-40615-1
P203-8XNBO-2K724-1A1.01...........cooc .. 644-40615-8
P203-8XNBO-3K724-1A1.01..........ccoee . 644-40615-5

Reservoir for grease with low-level control; 10 m connecting cable

2 Litre Model 24 VDC Part no.
P203-2XL-1K6-24-2A1.10 ..o 644-37478-1
P203-2XL-1K724-2A1.10 ..o 644-37487 -1
P203-2XL-3K6-24-2A1.10 ..o 644-40640-3

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2XLBO-1K6-24-2A1.10........c..ccoeen 644-40608-7
P203-2XLBO-1K7-24-2A1.10........c..cceen 644-40608-6

4 Litre, with reservoir lid

Model 12VDC Part no. Model 24 VDC Part no.

P203-4XLBO-1K6-12-2A1.10. ... 644-40794-4 P203-4XLBO-1K6-24-2A1.10........c..ccoeen . 644-37515-1
P203-4XLBO-2K7-24-2A1.10........c..ccoen . 644-37597-9
P203-4XLBO-3K5-24-1A1.01.......cc.coovien 644-40581-7
P203-4XLBO-3K7-24-2A1.01........c..cceen 644-40600-5
P203-4XLBO-3K5-24-2A1.01.......cc.ccoveen 644-40549-4
P203-4XLBO-2K7-24-2A1.01.......cc.ccoeen 644-40549-8
P203-4XLBO-2K6-24-2A1.01.......cc.ccoveen 644-40549-9

8 Litre, with reservoir lid

Model 12VDC Part no. Model 24 VDC Part no.

P203-8XLBO-1K6-12-2A1.10. ... 644-40836-2 P203-8XLBO-1K6-24-2A1.10........c..ccoeen 644-37491-1
P203-8XLBO-1K7-24-2A1.10........c..cceen . 644-40645-3

Page 7 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog

Pump P 203 DC without control p.c.b., continuation

Reservoir for grease with low-level control; connecting plug

2.0EN-20001-J10

2 Litre

Model 12 VDC Part no. Model 24 VDC Part no.

P203-2XL-1K7-12-2A1.01......ccooeoii 644-40898-6 P203-2XL-3K524-2A1.01 ..o 644-40613-7
P203-2XL-1K6-24-2A1.01 ... 644-40613-2
P203-2XL-1K724-2A1.01 ... 644-40520-5

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2XLBO-1K5-24-2A1.01........c..cceen . 64 4-40664-6
P203-2XLBO-1K6-24-2A1.01........c..cceen 644-40540-3
P203-2XLBO-1K7-24-2A1.01........c..cceen . 64 4-40540-9
P203-2XLBO-3K6-24-2A1.01........c..cceeen . 644-40851-8
P203-2XLBO-1KR24-2A1.01.......c..ccveen . 644-40851-4
P203-2XLBO-2KR24-2A1.01.......c..ccveen . 644-40851-5

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4XLBO-1K6-24-2A1.01........c..cceen 644-40549-2
P203-4XLBO-1K7-24-2A1.01........c..ccoen . 644-40549-5
P203-4XLBO-3K6-24-2A1.01.......cc..ccveen . 644-40581-5
P203-4XLBO-2K5-24-2A1.01.......cc.ccoveen 64 4-40581-6

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8XLBO-2K5-24-2A1.01........c..coveen 644-40615-2
P203-8XLBO-3K6-24-2A1.01........c..cceen . 64 4-40666-4
P203-8XLBO-1K7-24-2A1.01........c..cceen 644-40550-4
P203-8XLBO-2K7-24-2A1.01........c..cceen . 64 4-40666-1
P203-8XLBO-3K7-24-2A1.01.......cc..ccoeen . 64 4-40666-6
P203-8XLBO-3K5-24-2A1.01.......cc.ccoveen 64 4-40550-5
P203-8XLBO-2K6-24-2A1.01.......cc.ccveen . 64 4-40550-6
P203-8XLBO-1K6-24-2A1.01.......cc. oo 64 4-40550-7
P203-8XLBA-1K6-242A1.01.......cccoveen . 644-40861-1

Reservoir for oil without low-level control; 10 m connecting cable

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2YNBO-1K724-1A1.10..........cccooe 644-40608-8
P203-2YNBO-1K6-24-1A1.10.......c..cceen . 644-40608-4
P203-2YNBO-3K6-24-1A1.10.......c..cceen 644-40776-2

4 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.

P203-4YNBO-1K6-12-1A1.10 ..o 644-40597-3 P203-4YNBO-1K5-24-1A1.10..........cccoo . 644-40597-4

P203-4YNBO-1K7-12-1A1.10..........ccoo o 644-40597-2 P203-4YNBO-2K5-24-1A1.10.......c..cccoon . 644-40597-6
P203-4YNBO-1K6-24-1A1.10.......c..cceen . 644-40597-5

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8YNBO-2KR-24-1A1.10.........cccoee .. 644-40645-7

Page 8 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



User Information
Parts Catalog

Pump P 203 DC without control p.c.b., continuation

Reservoir for oil without low-level control; connecting plug

4 Litre, with reservoir lid

2.0EN-20001-J10

Subject to modification

Model 12VDC Part no. Model 24 VDC Part no.

P203-4XNBO-1K7-12-1A1-01............... ... 644-41035-1 P203-4YNBO-1K5-24-1A1.01..........ccooe .. 644-40581-9
P203-4YNBO-1K6-24-1A1.01..........ccoeee . 644-40633-7
P203-4YNBO-2K6-24-1A1.01.......c..ccoeee . 644-40633-8
P203-4YNBO-1K724-1A1.01..........ccooe .. 644-40633-3

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8YNBO-1K5-24-1A1.01..........ccooe .. 644-40615-9
P203-8YNBO-1K6-24-1A1.01..........ccoeen . 64 4-40550-9
P203-8YNBO-1K724-1A1.01..........ccooe .. 644-40615-4
P203-8YNBO-1KR-24-1A1.01................ ... 644-40861-7

Reservoir for oil with low-level control; 10 m connecting cable

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2YLBO-1K6-24-1A1.10...........cceen . 644-40608-4

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4YLBO-1K6-24-1A1.10...........ccoen . 64 4-40597-1

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8YLBO-1K6-24-1A1.10...........ccoeen . 644-40645-2
P203-8YLBO-1K7-24-1A1.10...........ccoon . 64 4-40645-1

Reservoir for oil with low-level control; connecting plug

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2YLBO-1K6-24-2A1.01.......cc.ccceeen . 644-40583-3

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4YLBO-1K7-24-1A1.01........c..ccoeen . 64 4-40600-9
P203-4YLBO-2K7-24-1A1.01.......cc..ccoeen . 64 4-40600-6
P203-4YLBO-3K5-24-1A1.01.......cc..ccoeen . 644-40600-7

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8YLBO-1K6-24-1A1.01.......cc.ccoeen . 644-40550-8
P203-8YLBO-1K7-24-1A1.01........c..ccoeen . 64 4-40666-5
P203-8YLBO-2K7-24-1A1.01.......cc..ccoeen . 64 4-40666-3

Page 9 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Pump P 203 AC without control p.c.b.

Reservoir for grease without low-level control; AC; connecting plug

2 Litre, with reservoir lid Model 230 VAC Part no.
P203-2XNBO-3K6-AC-1A1.01..........ccooe .. 644-40782-1

4 Litre, with reservoir lid Model 230 VAC Part no.
P203-4XNBO-1K6-AC-1A1.01..........c.o.. .. 644-40718-7

8 Litre, with reservoir lid Model 230 VAC Part no.
P203-8XNBO-1K6-AC-1A1.01..........c.ooe .. 644-40721-9
P203-8XNBO-3K7-AC-1A1.01..............c. ... 644-40808-8

Reservoir for grease with low-level control; AC; connecting plug

2 Litre Model 230 VAC Part no.
P203-2XLBO-1K6-AC-2A1.01......cc.ccoveen 644-40782-2
P203-2XL-1K6-AC-2A1.01 ... 644-40849-3

4 Litre, with reservoir lid Model 230 VAC Part no.
P203-4XLBO-1K6-AC-2A1.01.......c.ccoveen . 644-40718-1

8 Litre, with reservoir lid Model 230 VAC Part no.
P203-8XLBO-1K6-AC-2A1.01.......c.ccoveen 644-40721-5

Reservoir for oil without low-level control; AC; connecting plug

2 Litre, with reservoir lid Model 230 VAC Part no.
P203-2YNBO-1KR-AC-1A1.01 .................... 644-40849-7

8 Litre, with reservoir lid Model 230 VAC Part no.
P203-8YNBO-1K5-AC-1A1.01..........c..c. .. 644-40808-4

Reservoir for oil with low-level control; AC; connecting plug

8 Litre, with reservoir lid Model 230 VAC Part no.
P203-8YLBO-2K7-AC-1A1.01..........cccoeen . 64 4-40666-9

Page 10 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog

2.0EN-20001-J10

Pump P 203 DC with control p.c.b. V10-V13

Reservoir for grease without low-level control;V10-V13 p.c.b.; 10 m connecting cable

2 Litre
Model 12VDC Part no. Model 24 VDC Part no.
P203-2XN-1K6-12-1A1.10-V10.................... 644-37423-1 P203-2XN-1K6-24-1A1.10-V10................... 644-37424-1
P203-2XN-1K6-12-2A1.10-V10............. ....... 644-37425-1 P203-2XN-1K6-24-2A1.10-V10.............. ... 644-37426-1
P203-2XN-1K7-242A1.10-V10................... 644-40657-6
P203-2XN-2K7-242A1.10-V10.............. ... 644-40601-2
P203-2XN-1K6-24-1A1.10-V11................... 644-40601-3
P203-2XN-2K6-24-1A1.10-V10.................... 644-40601-4
P203-2XN-1K6-24 2A1.10-V12........c...o. ... 644-40601-6
P203-2XN-1K6-24-1A1.10-V12............... ... 644-40601-9
P203-2XN-1K6-24-1A1.10-V11.................... 644-4087 4-1
P203-2XN-1K6-24-1A7.16-V10............... ... 644-4087 4-5
2 Litre, with reservoir lid
Model 12VDC Part no. Model 24 VDC Part no.
P203-2XNBO-1K5-12-1A1.10-V10 ............. 644-40636-5 P203-2XNBO-1K5-24-1A1.10-V10 .............. 644-40636-3
P203-2XNBO-1K6-12-2A1.10-V10 .............. 644-40772-8 P203-2XNBO-1K6-24-1A1.10-V10 .............. 644-37510-1
P203-2XNBO-2K7-12-2A1.10-V10 .............. 644-40772-5 P203-2XNBO-1K6-24-2A1.10-V10 .............. 644-37514-1
P203-2XNBO-1K6-24-2A1.10-V13 .............. 644-40636-7
P203-2XNBO-1K6-24-1A1.10-V13 .............. 644-40636-8
P203-2XNBO-1K7-24-1A1.10-V10 .............. 644-40636-6
P203-2XNBO-1K7-24-2A1.10-V10 .............. 644-40636-2
P203-2XNBO-3K6-24-1A1.10-V10 .............. 644-40772-6
2 Litre, flat-Modele reservoir Model 24 VDC Part no.
P203-2XNFL-1K6-24-1A1.10-V10 ............... 644-37470-1
P203-2XNFL-1K6-24-2A1.10-V10 ............... 644-37471-1
4 Litre, with reservoir lid
Model 12 VDC Part no. Model 24 VDC Part no.
P203-4XNBO-1K6-12-1A1.10-V10 .............. 644-40599-1 P203-4XNBO-1K6-24-1A1.10-V10 .............. 644-37481-1
P203-4XNBO-1K6-12-2A1.10-V10 .............. 644-37501-1 P203-4XNBO-1K6-24-2A1.10-V10 .............. 644-37480-1
P203-4XNBO-1K7-12-2A1.10-V10 .............. 644-40599-7 P203-4XNBO-2K6-24-2A1.10-V10 .............. 644-37499-6
P203-4XNBO-1K7-12-1A1.10-V10 ............. 644-40753-2 P203-4XNBO-1K7-24-1A1.10-V10 .............. 644-40662-3
P203-4XNBO-3K7-24-1A1.10-V10 .............. 644-40599-8
P203-4XNBO-1K7-24-2A1.10-V10 .............. 64 4-40662-1
P203-4XNBO-3K6-24-1A1.10-V10 .............. 644-40753-4
P203-4XNBO-1K5-24-1A1.10-V11 ............. 644-40860-3
8 Litre, with reservoir lid
Model 12VDC Part no. Model 24 VDC Part no.
P203-8XNBO-1K6-12-1A1.10-V10 .............. 644-40683-2 P203-8XNBO-1K5-24-2A1.10-V10 .............. 644-40683-5
P203-8XNBO-1K6-12-2A1.10-V10 .............. 644-40683-1 P203-8XNBO-1K6-24-1A1.10-V10 .............. 644-37475-1
P203-8XNBO-2K7-12-1A1.10-V10 .............. 644-40683-7 P203-8XNBO-1K6-24-2A1.10-V10 .............. 64 4-3747 4-1
P203-8XNBO-2K6-24-1A1.10-V10 .............. 644-40610-3
P203-8XNBO-1K7-24-1A1.10-V10 .............. 644-37534-1
P203-8XNBO-2K7-24-1A1.10-V10 .............. 644-40683-3
P203-8XNBO-3KR-24-1A1.10-V10.............. 644-4068 3-6
8 Litre Model 24 VDC Part no.
P203-8XN-1K6-24-1A1.10-V10.............. ... 644-40969-1
P203-8XN-1K6-24-2A1.10-V10............... ... 644-40969-2

Page 11 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Pump P 203 DC with control p.c.b. V10-V13, continuation

Reservoir for grease without low-level control;V10-V13 p.c.b.; connecting plug

2 Litre
Model 12 VDC Part no. Model 24 VDC Part no.
P203-2XN-1K6-12-2A1.01-V10.................... 644-40563-9 P203-2XN-1K5-24-1A1.01-V10.................... 644-40563-5
P203-2XN-1K6-12-1A1.01-V10................... 644-40835-8 P203-2XN-1K6-24-1A1.01-V10.................... 644-40563-2
P203-2XN-1K6-242A1.01-V10.................... 644-40670-3
P203-2XN-1K6-24-1A1.01-V12........c..o. ... 644-4067 0-1
P203-2XN-1K7-24-1A1.01-V10.................... 644-40670-9
P203-2XN-1K7-242A1.01-V10.................... 644-40670-4
P203-2XN-2K5-24-1A1.01-V11.................. 644-40563-6
2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2XNBO-1K6-24-1A1.01-V10 .............. 644-40565-1
P203-2XNBO-3K6-24-1A1.01-V10 .............. 644-40641-3
P203-2XNBO-1K7-24-1A1.01-V10 .............. 644-40565-4
P203-2XNBO-1K7-24-2A1.01-V10 .............. 644-40565-5
P203-2XNBO-2K724-1A1.01-V10 .............. 644-40641-1
P203-2XNBO-1K724-2A1.01-V12 .............. 644-40565-3
P203-2XNBO-2K6-24-1A1.01-V10 .............. 644-40817-9
4 Litre
Model 12VDC Part no. Model 24 VDC Part no.
P203-4XN-1K6-12-2A1.10-V10................... 644-41072-1 P203-4XN-1K6-24-1A1.10-V10.................... 644-40860-5
4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4XNBO-1K5-24-1A1.01-V10 .............. 644-40586-6
P203-4XNBO-1K6-24-1A1.01-V10 .............. 644-40568-8
P203-4XNBO-2K6-24-1A1.01-V10 .............. 644-40586-9
P203-4XNBO-1K6-24-1A1.01-V13 .............. 644-40650-3
P203-4XNBO-1K7-24-1A1.01-V10 .............. 644-40586-4
P203-4XNBO-1K724-1A1.01-V12 .............. 644-40586-2
P203-4XNBO-1K7-24-2A1.01-V10 .............. 644-40650-5
8 Litre, with reservoir lid
Model 12 VDC Part no. Model 24 VDC Part no.
P203-8XNBO-1K6-12-1A1.10-V10 ............. 644-40683-2 P203-8XNBO-1K6-24-2A1.01-V10 .............. 644-40594-9
P203-8XNBO-1K6-12-2A1.10-V10 .............. 644-40683-1 P203-8XNBO-1K7-24-1A1.01-V10 .............. 644-40594-8
P203-8XNBO-2K7-12-1A1.10-V10 ............. 644-40683-7 P203-8XNBO-1K724-1A1.01-V12 .............. 644-40594-7
P203-8XNBO-1K7-24-2A1.01-V10 .............. 644-40594-4
P203-8XNBO-2K7-24-1A1.01-V10 .............. 644-40691-1
P203-8XNBO-3K7-24-1A1.01-V10 .............. 644-40594-1
P203-8XNBO-2K6-24-2A1.10-V10 .............. 644-40833-8
P203-8XNBO-3K6-24-1A1.10-V10 .............. 644-40833-5
P203-8XNBO-1K6-24-2A1.10-V10 .............. 644-46102-7
P203-8XNBO-1C7-24-2A1.10-V10.............. 644-46208-5

Page 12 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Pump P 203 DC with control p.c.b. V10-V13, continuation

Reservoir for grease with low-level control; V10-V13 p.c.b.; 10 m connecting cable

2 Litre

Model 12VDC Part no. Model 24 VDC Part no.

P203-2XL-1K6-12-2A1.10-V10............. ... 644-40601-5 P203-2XL-1K6-24-2A1.10-V10.........c.oo. ... 644-37460-1
P203-2XL-3K6-24-2A1.10-V10.........c.oce ... 64 4-40874-2

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2XLBO-1K6-24-2A1.10-V10............... 644-40636-1
P203-2XLBO-1K7-24-2A1.10-V10............... 644-40636-4

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4XLBO-1K5-24-2A1.10-V10............... 644-37599-2
P203-4XLBO-1K6-24-2A1.10-V10............... 644-37516-1
P203-4XLBO-1K7-24-2A1.10-V10............... 644-37599-5

8 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.

P203-8XLBO-1K6-12-2A1.10-V10 ............... 644-37455-1 P203-8XLBO-2K7-24-2A1.10-V11.............. 644-40610-5

P203-8XLBO-3K6-12-2A1.10-V10 ............... 644-40683-8 P203-8XLBO-3K6-24-2A1.10-V11.......... ... 644-40610-6

P203-8XLBO-1K7-12-2A1.10-V10............... 644-408334 P203-8XLBO-3K7-24-2A1.10-V10............... 644-40610-1
P203-8XLBO-1K6-24-2A1.10-V10............... 644-40610-2

Reservoir for grease with low-level control; V10-V13 p.c.b.; connecting plug

2 Litre

Model 12VDC Part no. Model 24 VDC Part no.

P203-2XL-1K6-12-2A1.10-V10............. ... 644-40601-5 P203-2XL-1K6-24-2A1.01-V10........ccoce .. 644-40563-4
P203-2XL-2K7-24-2A1.01-V10.............c. ... 64 4-4056 3-1
P203-2XL-1K6-24-2A1.01-V13 ... 644-46109-8
P203-2XL-3K724-2A1.01-V13............oc. .. 644-40748-6

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2XLBO-1K6-24-2A1.01-V10............... 644-40641-4
P203-2XLB0O-2K6-24-2A1.01-V10............... 644-40641-6
P203-2XLBO-1K7-24-2A1.01-V10.............. 64 4-4067 0-6
P203-2XLBO-1K5-24-2A1.01-V10............... 644-41055-5

4 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.

P203-4XLBO-1K6-12-2A1.01-V10 ............... 644-40810-4 P203-4XLBO-1K6-24-2A1.01-V10............... 644-40586-5

P203-4XLBO-2K6-12-2A1.01-V10................ 644-40975-1 P203-4XLBO-1K7-24-2A1.01-V10............... 644-40586-3
P203-4XLBO-1K7-24-2A1.01-V12......... ... 64 4-40586-1
P203-4XLBO-1K7-24-2A1.01-V13......... ... 644-40586-7

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8XLBO-1K6-24-2A1.01-V10............... 644-40691-3
P203-8XLBO-1K7-24-2A1.01-V10............... 644-40594-6
P203-8XLBO-2K7-24-2A1.01-V10............... 644-40594-3
P203-8XLBO-3K7-24-2A1.01-V10............... 644-40594-5

Page 13 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Pump P 203 DC with control p.c.b. V10-V13, continuation

Reservoir for grease without low-level control;V10-V13 p.c.b.; 10 m connecting cable, ADR

2 Litre
Model 12 VDC Part no. Model 24 VDC Part no.
P203-2XN-1K6-12-1A1.11-V10-ADR..... ....... 644-37446-1 P203-2XN-1K6-24-1A1.11-V10-ADR....... ..... 644-37447-1

P203-2XN-1K6-24-2A1.11-V10-ADR....... ..... 644-37454-1

Reservoir for oil without low-level control; V10-V13 p.c.b.; 10 m connecting cable

2 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.
P203-2YNBO-1K6-12-1A1.10-V10 .............. 644-40772-7 P203-2YNBO-1K6-24-1A1.10-V10 .............. 64 4-37468-1
P203-2YNBO-2K6-12-1A1.10-V10 .............. 644-40772-2 P203-2YNBO-1K6-24-2A1.10-V10 .............. 644-37499-1
P203-2YNBO-1K724-2A1.10-V10 .............. 644-37497-1
4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4YNBO-1K6-24-1A1.10-V10 .............. 64 4-40662-2

Reservoir for oil without low-level control; V10-V13 p.c.b.; connecting plug

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2YNBO-1K6-24-1A1.01-V10 .............. 644-40641-2
P203-2YNBO-1K6-24-2A1.01-V10 .............. 644-40641-9
P203-2YNBO-1K724-1A1.01-V10 .............. 644-40641-5
P203-2YNBO-2K6-24-1A1.01-V10 .............. 644-40565-7
P203-2YNBO-3K6-24-1A1.01-V10 .............. 644-40817-4

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4YNBO-1K6-24-1A1.01-V10 .............. 644-40810-8
P203-4YNBO-1K7 24-1A1.01-V10 .............. 644-40810-6

8 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.
P203-8YNBO-1K7-12-1A1.01-V10 .............. 644-40916-3 P203-8YNBO-1K7 24-1A1.01-V10 ........ ... 644-40594-2

Page 14 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Pump P 203 DC with control p.c.b. V10-V13, continuation

Reservoir for oil with low-level control; V10-V13 p.c.b.; 10 m connecting cable

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2YLBO-1K6-24-1A1.01-V10............... 644-41055-1
P203-2YLBO-1K6-24-2A1.01-V11............... 644-40641-7
P203-2YLBO-3K6-24-1A1-01-V10............... 644-40817-3

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4YLBO-1K6-24-2A1.10-V10............... 644-40599-4
P203-4YLBO-1K7-24-2A1.10-V10.............. 644-40599-3
P203-4YLBO-1K6-24-1A1-10-V10............... 644-40662-9

Reservoir for oil with low-level control; V10-V13 p.c.b.; connecting plug

2 Litre, with reservoir lid Model 24 VDC Part no.
P203-2YLBO-3K6-24-1A1.01-V10............... 644-40817-3

4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4YLBO-2K6-24-2A1.01-V10............... 644-40650-4

8 Litre, with reservoir lid Model 24 VDC Part no.
P203-8YLBO-2K6-24-2A1.01-V10............... 644-40691-2
P203-8YLBO-1K7-24-2A1.01-V10............... 644-40691-4
P203-8YLBO-3K6-24-1A1.01-V10............... 644-40727-2

Pump P 203 AC with control p.c.b. V10-V13

Reservoir for grease without low-level control; V10-V13 p.c.b.; AC; connecting plug

2 Litre Model 230 AC Part no.
P203-2XN-1K6-AC-1A1.01-V10.................. 644-40716-1
2 Litre, with reservoir lid Model 230 AC Part no.
P203-2XNBO-1K6-AC-1A1.01-V10 ............. 644-40716-2
4 Litre, with reservoir lid Model 230 AC Part no.
P203-4XNBO-1K6-AC-1A1.01-V10 ............. 644-40719-5
8 Litre, with reservoir lid Model 230 AC Part no.
P203-8XNBO-1K6-AC-1A1.01-V10 ............. 644-40720-1

Page 15 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Pump P 203 AC with control p.c.b. V10-V13, continuation

Reservoir for grease with low-level control; V10-V13 p.c.b.; AC; connecting plug

2 Litre, with reservoir lid Model 230 AC Part no.
P203-2XLBO-1K7-AC-2A1.01-V10............. 644-40845-6

4 Litre, with reservoir lid Model 230 AC Part no.
P203-4XLBO-1K6-AC-2A1.01-V10.............. 644-40799-1
P203-4XLB0O-3K6-AC-2A1.01-V10............. 644-40719-8

8 Litre, with reservoir lid Model 230 AC Part no.
P203-8XLBO-1K6-AC-2A1.01-V10............. 644-40762-2

Reservoir for oil without low-level control; V10-V13 p.c.b.; AC; connecting plug

2 Litre, with reservoir lid Model 230 AC Part no.
P203-2YNBO-3K6-AC-1A1.01-V10 ............. 644-40834-4

Reservoir for oil with low-level control; V10-V13 p.c.b.; AC; connecting plug

2 Litre, with reservoir lid Model 230 AC Part no.
P203-2YLBO-3K6-AC-1A1.01-V10............. 644-40834-3

Page 16 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Pump P 203 DC with control p.c.b. M08-M23

Reservoir for grease without low-level control; M08-M23 p.c.b.; 10 m connecting cable

2 Litre Model 24 VDC Part no.
P203-2XN-1K6-242A6.15-M09 ............. ... 644-40709-9

2 Litre, with reservoir lid

Model 12 VDC Part no. Model 24 VDC Part no.
P203-2XNBO-1K6-12-2A6.15-M08 .............. 644-40821-3 P203-2XNBO-1K6-24-2A6.15-M13......... ... 644-40821-5

4 Litre, with reservoir lid

Model 12 VDC Part no.
P203-4XNBO-1K6-12-2A6.15-M08 .............. 644-40919-1
8 Litre, with reservoir lid Model 24 VDC Part no.

P203-8XNBO-1K7-24-2A6.15-M08............... 644-40822-9

Reservoir for grease with low-level control; M08-M23 p.c.b.; 10 m connecting cable

4 Litre, with reservoir lid

Model 12VDC Part no. Model 24 VDC Part no.
P203-4XLBO-1KB6-12-2A6.15-M16 .............. 644-40843-9 P203-4XLBO-1K7-24-2A6.15-M08 . ............. 644-40919-2
P203-4XLBO-1KB-12-2A6.15-M08 .............. 644-40843-8

8 Litre, with reservoir lid

Model 12 VDC Part no.
P203-8XLBO-1KB6-12-2A6.15-M16 .............. 644-40822-8

Pump P 203 AC with control p.c.b. M08-M23

Reservoir for oil with low-level control; M08-M23 p.c.b.; AC; 10 m connecting cable

2 Litre Model 230 AC Part no.
P203-2XL-1K6-AC-3A6.15-M08.................... 644-40885-1
2 Litre, with reservoir lid Model 230 AC Part no.
P203-2XLBO-1K5-AC-3A6.15-M08 ............. 644-40885-5
P203-2XLBO-2K6-AC-3A6.15-M17 ............. 644-40885-2
4 Litre, with reservoir lid Model 230 AC Part no.
P203-4XLBO-1K7-AC-3A6.15-M08 ............. 644-40951-1
8 Litre, with reservoir lid Model 230 AC Part no.
P203-8XLBO-1K6-AC-3A6.15-M08 ............. 64 4-4087 3-1

Page 17 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

2.0EN-20001-J10
Pump P 203 DC with control p.c.b. H

Reservoir for grease without low-level control; H p.c.b.; 10 m connecting cable

Subject to modification

2 Litre

Model 12 VDC Part no. Model 24 VDC Part no.

P203-2XN-1K6-12-1A1.10-H....................... 644-37406-1 P203-2XN-1K5-24-1A1.10-H ...........ccoooe 644-37505-1
P203-2XN-1K6-24-1A1.10-H ...........ccoooo 644-37407-1

2 Litre, flat-type reservoir Model 24 VDC Part no.
P203-2XNFL-1K6-24-1A1.10-H.............. ... 644-40601-1

Reservoir for grease without low-level control; H p.c.b.; 10 m connecting cable, ADR

2 Litre
Model 12 VDC Part no. Model 24 VDC Part no.
P203-2XN-1K6-12-1A1.11-H-ADR................ 644-37408-1 P203-2XN-1K6-24-1A1.11-H-ADR.......... ... 644-37409-1
4 Litre, with reservoir lid Model 24 VDC Part no.
P203-4XNBO-1K6-24-1A1.11-H-ADR ........ 644-37504-1
Pump P 203 Reservoir Conversion sets
for 2 Litre reservoir for 4 Litre reservoir
to 2 Litre flat-Modele reservoir Part. no. to 4 Litre reservoir with follower plate Part. no.
2XN to 2XNFL 544-32047-1 4XNBO to 4XBF 544-32589-1
to 4 Litre reservoir Part. no. to 15 Litre reservoir Part. no.
2XN to 4XN 544-32787-1 4AXN to 15XN 544-32956-1
2XN to 4XNBO 544-32022-1 AXL to 15XLBO 544-32957-2
2XN/XNBO to 4 XBF 544-32588-1 4XBF to 15XBF 544-32958-2
to 8 Litre reservoir Part. no. . .
XN to  8XN 544-32788-1 for 8 Litre reservoir
2XL to 8XL 544-32885-1 ; Pewi
5XN to 8XNBO 5 44-320231 to 8 Litre reservoir with follower plate Part. no.
2XN/XNBO to  8XBF 544-32587-1 8XNBO to 8XBF 544-32590-1
to 15 Litre reservoir Part. no. to 15 Litre reservoir Part. no.
8XN to 15XN 544-32956-1
2XN t 15XN 544-32956-1
© 8XL to 15XL 544-32957-2
8XBF to 15XBF 544-32958-2
NOTE

ForXN-, XL-, XNBO-, XNFL- & XBF -
decoding see following Ide ntification

Codes.

6001a02

Page 18 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Identification Code — pump variants P 203 DC,
with and without control p.c.b. V10-V13, V20-V23, H

Code examples:
P203 - 2
NOTE P203 - 4

Any pumps combinations other the noted standard pum ps P203 -
can be composed and ordered in accordance with the valid P203 -
model identification code. P203 -
6001202 P203 -

K6 - 24 - 1A
KR - 24 - 2A
K5 - 12 - 1A
K6 - 24 - 1A
K7 - 24 - 1A
K6 - 24 - 1A

oo}
(e}

o o
(o]

N A 0N

% < > x X %
rrzz=zz
N RN

-P2032 T T 1 R
Basic pump model for grease or oil |

with 1-3 outlets and 12 VDC or 24 VDC motor |

Reservoir design
- 2=2 |transparent plastic reservoir

- 4 =4 |transparent plastic reservoir
- 8=8 |transparent plastic reservoir
-15=151 transparent plastic reservoir
- X =Reservoir for grease |

- Y =Reservoir for oil \

- N = Standard design ‘
- L =Low-level control
- LNC = Lowdevel control, normally closed ‘

- No indication = standard reservoir (2 liters) ‘
- BO = Filling from the top
- FL = Flat-type reservoir (onlyfor 2 liters without low-level control)

Pump elements |
-1-3=Number of elements used |

- K5 =Piston diameter =5 mm

- K6 =Piston diameter = 6 mm

- K7 =Piston diameter = 7 mm

- KR =Pump element, adjustable, Piston diameter =7 mm

-C 7 =Piston diameter = 7 mm ®

-B7 = Piston diameter = 7 mm (output of K5)»

- S 7 = Piston diameter =7 mm (for greases containing silicone)

Supply voltage ‘
-12 =12 VDC (direct current motor)
-24 =24 VDC (direct current motor)

Number of electric connecting possibiliies

-1A= 1 connection, left power supply "

-1A= 1 connection, left power supply ?

-1A= 1 connection, left power supply ¥, illuminated pushbutton for additional operating cycles and low-level control ©
-2A = 2 connections, left power supply” + right iluminated pushbutton for additional operating cycles and low-level control

1)&C)

Type of connection
-1 = Square-type plug acc. to DIN 43650, industrial application
-2=M12 plug

2.0EN-20001-J10

ol - V12
10 - H
14 - V13
10 - V20

_16 - vi0

N2,

- 3 = Bayonet plug, 4/2-pole, without plug, without cable
-5 = Bayonet plug acc. to DIN 72585-1, 4/3-pole (V10-13, 7/3-pole with \/20-23, H), only for mohile applicaiton
-7 = Bayonet plug acc. to DIN 72585-1, 7/6-pole (V10-13, V20-23), only for mokile applicaiton

Connection outside of the pump

- 00 =without socket, without cable

-01 =with socket, wthout cable "

-10 =with socket, wth10 m cable "

- 11 =with socket, wth 10 m cable ADR D&A

-14 = Bayonet socket with 10 m cable 2, 4/3-core, (V10-13, 7/3-core wih VV20-23) without low-level control, without illuminated pushbutton ©
-16 = Bayonet socket with 10 m cable®, 7/6-core (V10-13,V20-23), with low-level cortrol or with illuminated pushbutton ©

-17 = Bayonet socket with 10 m cable ADR?®”, 43core (V10-13, H)

- 70 = Bayonet socket with 6 m cable, 7/3-core for USA

Control p.c.b. 12V/ 24V
-V10-V13 = with adjustable pause and lubricating time " 243

-H= for trialer or semitrailer &2
- No indication = without control p.cb. V&2

YIn conjunction with square-type plugs (type of connection 1)
2 |n conjunction with bayonet plugs (type of connection 5)
n conjunction with bayonet plugs (type of connection 7)

A For transport of hazard materials

B €7 = Indication for pump elements to deliver chisel paste

© Low-level control for oil; connection between low-level control and control p.c.b. is not possible and therefore, is not taken into consideration

P For use at ambient conditions with a high degree of pollution or high dust concentration

Page 19 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Identification Code — pump variants P 203 AC,
with and without control p.c.b. V10-V13, V20-V23, H
Code examples:
P203 -2 X N -1 K6-AC-1A 1. 01 - V10
NOTE P203 -4 X L BO-1 KR-AC-2A 1. o1 - V12
Any pumps combinations other the noted standard pum ps P203 -2 X N -2 K5-AC-1A 1 Of
can be composed and ordered in accordance with the valid P203 - 8 X L BO-1 K6-AC-2A 5 14 - V11
model identification code. P203 -4 Y L BO-1 K7-AC-1A 1. 01 - V20
6001202 P203 -2 X L -1 K6-AC-2A 7 16 - V10
.Pmsz) T T T T 1T "1 T 1 717 71
Basic pump model for grease or oil |

with 1-3 outlets and 12 VDC or 24 VDC motor|

Reservoir design
- 2=2 |fransparent plastic reservoir

- 4=4 |transparent plastic reservoir
- 8=28 |fransparent plastic reservoir
-15 =151 transparent olastic reservoir
- X =Reservoir for grease|

-Y =Reservoir for oil |

-N= Standard design |
-L =Low-level contrd |

- No indication = standard reservoir (2 liters) ‘
- BO = Filling from the top
- FL = Flat-type reservoir (onlyfor 2 liters without low-level contral, not for oil) ‘

Pump elements
-1-3=Number ofelements used |

- K5 =Piston diameter =5 mm

- K6 =Piston diameter = 6 mm

- K7 =Piston diameter = 7 mm

- KR =Pump element, adjustable, Piston diameter =7 mm

-B7 =Piston diameter = 7 mm (output of K5)»

- S 7 = Piston diameter =7 mm (for greases containing silicone)

Supply voltage \
-AC =110-240 VAC +10%, 50-60 Hz +5% (with 24 VDC direct current motor) |

Number of electric connecting possibiliies |

-1A= 1 connection, left power supply .
-2A = 2 connections, left bottom power suppl )
- either right only low-level control ’

- or left top only low-level control
- or left top illuminated pushbutton for additional operating cycles and low-level control ¥

Type of connection

-1 = Square-type plug acc to DIN 43650, industrial application

- 5= Bayonet plug acc. to DIN 72585-1, 4/3-pole (V10-13, 7/3-pole with V20-23, H)
-7 = Bayonet plug acc. to DIN 72585-1, 7/6-pole (V10-13, V20-23)

Connection outside of the pump

- 01 =with socet, without cable

-14 = bayonet socket with 10 m cablez), 4/3-core, (V10-13, 7/3-core with V20-23) without low-level control, without illuminated pushbutton
-16 = bayonet socket with 10 m cable®’, 7/6-core (V10-13,V20-23), with low-level cortrol or with illuminated pushbutton

- 70 = bayonet socket with 6 m cable, 7/3-core for USA

Control p.c.b. 12V/ 24V

-V10-V13 = with adjustable pause and lubricating time
-V20-V23 = with adjustable pause and lubricating time (US market)

- ohne Angabe = without control p.cb.

"In conjunction with square-type plugs (type of connection 1)

2 In conjunction with bayonet plugs (type of connection 5)

¥ In conjunction with bayonet plugs (type of connection 7)

A For use at ambient conditions with a high degree of pollution or high dust concentration

Page 20 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Identification Code — pump variants P 203 DC,
with control p.c.b. M08-M23

Code examples:
P203- 2 X L -1 K6-24-2A 6 15- M10
NOTE P203-4 X L-BO-1 KR-24-2A 6 15- M2
Any pumps combinations other the noted standard P203-2 X L -2 KS-12-2A 6 15- M2
pumps can be composed and ordered in accordance P203- 8 X L -BO-1 K6-24-2A 6 15 MO8
with the valid model identfication code. P203- 4 Y L-BO-1 K7-12-2A 6 15- M16
6001202 P203-2 X L -1 K6-24-2A 6 15- M23

- P203

Basic pump model for grease or oil \
with 1-3 outlets and 12 VDC or 24 VDC motor |

e

- 2 =2 |transparent plastic reservoir
- 4 =4 | transparent plastic reservoir
- 8 =8 | transparent plastic reservoir
- 15 =151 I transparent plastic reservoir

Reservoir design |

- X =Reservoir for gease |
- Y = Reservoir for ol |

- N= Standard design |

- L= Low-level control |

- No indication = standard reservoir (2 liters)
- BO = Filling from the top

- BF = Reservoair with follower plate
- FL =Flattype reservoir (only for 2 liters without low-level control)

Pump elements

- 1-3 = Number of elements used |

- K5 =Piston dameter=5 mm
- K6 =Piston dameter=6 mm
- K7 =Piston dameter=7 mm

- KR= Pump element, adjustable, Piston diameter = 7 mm
- B7 =Piston dameter=7 mm (output of K5) ®
- § 7 = Piston diameter = 7 mm (for greases containing silicone)

Supply wltage |

- 12 =12 VDC (direct current mator)
- 24 =24 VDC (direct current mator) |

Number of electric connecting possibilities
- 2A = 2 connections:

left power supply, iluminated pushbutton for additional operating cycles and low-level control V&

+ right piston detector 2

Type of connection

|
- 6 =Bayonet plug acc. to DIN 72585-1, 7/5-pole |

Connection outside of the pump

- 16 =Bayonet socket with 10 m cable“, 7/5-core |
Control p.c.b. 12V /24 V

- M084M23 = wih microprocessor control " (various adjustments, see combination of the jumper-positions) \

YIn conjunction with bayonet plugs (type of connection 6)

2 Low-level control for oil; connection between low-level control and control p.c.b. is not possible and therefore, is not taken into consideration

A Piston detector, 4-pole
For use at ambient conditions with a high degree of pollution or high dust concentration

Page 21 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Identification Code — pump variants P 203 AC,
with control p.c.b. M08-M23
Code examples:
P203-2 X L -1 K6-AC-3A 6. 15- MO8
NOTE P203-4 X L -BO-1 KR-AC-3A 6. 15-M12
Any pumps combinations other the noted standard pumps P203-2 X L -2 K5-AC-3A 6 15-M23
can be composed and ordered in accordance with the valid P203-8 X L -BO-1 K6-AC-3A 6. 15 M®
model identification code. P203-4 Y L -BO-1 K7-AC-3A 6. 15-M2
6001202 P203-2 X L -1 K6-AC-3A 6. 15-M10
- P203, P203 UL " 1T 7 7 7 17 T T 1T 1T 1

e

Basic pump model for grease or oil
with 1-3 outlets and 12 VDC or 24 VDC motor |

- 2 =2 |transparent plastic reservoir
- 4 =4 | transparent plastic reservoir
- 8 =8 | transparent plastic reservoir
- 16 =151 transparent plastic reservoir

Reservoir design |

- X =Reservoir for grease |
- 'Y =Reservoir for ail |

- L= Low-level control I

- No indication = standard reservoir (2 liters)
- BO = Filling from the top

- BF = Reservair with follower plate
- FL =Flattype reservoir (only for 2 liters without low-level control, notfor oil)

Pump elements \

- 1-3 = Number of elements used |

- K6 =Piston dameter=6 mm

- K5 =Piston dameter=5 mm
- K7 =Piston dameter=7 mm

- B7 =Piston dameter=7 mm (output of K5)»

- KR= Pump element, adjustable, Piston diameter = 7 mm
- § 7 = Piston diameter = 7 mm (for greases containing silicone)

Supply wltage \

- AC= 110-240 VAC +10%, 50-60 Hz 5% (with 24 VDC direct current motor)|

Number of electric connecfing possibilities
- 3A = 3 connections:

left top illuminated pushbutton for additional operating cycles and low-level cortrol®

left bottom power supplyz)
+ right piston detector * ‘

Type of connection |

- 1 =Square-type plug acc. to DIN 43650, design A
- 6 =Bayonet plug acc. to DIN 72585-1 ", 7/5-pole

Connection outside of the pump ;
- 15 =Bayonet socket with 10 m cable ), 7/5-core

Control p.c.b. 12V /24 V \

- M08M23 =with microprocessor control " (various adjustments, see combination of the jumper-positions) |

1)
)
3)

UL prooved pumps 203 can be ordered for the North American market

In conjunction with square-type plugs (type of connection 1)

In conjunction with bayonet plugs (type of connection 6)

A For use at ambient conditions with a high degree of pollution or high dust concentration

N

Page 22 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Assemblies for pump model 203

4084b03

Fig. 2-1 Assemblies for pump model203, filling from top and bottom

Page 23 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Assemblies for pump model, continuation
Item Designation of assembly
01 Lower part
02 Pump element K5
03 Pump element K6
04 Pump element K7, C7, S7
05 Pump element KR, B7, S7
06 Reservoir 2 XN
07 Reservoir 2 XNBO (2YNBO)
08 Reservoir 2 XNFL
09 Reservoir 2 XL
10 Reservoir 2 XLBO
11 Reservoir 2 YLBO
12 Reservoir 4 XN
13 Reservoir 4 XNBO (4YNBO)
14 Reservoir 4 XL
15 Reservoir 4 XLBO
16 Reservoir 4 YLBO
17 Reservoir 8 XN
18 Reservoir 8 XNBO (8YNBO)
19 Reservoir 8 XL
20 Reservoir 8 XLBO
21 Reservoir 8 YLBO
22 Type of connection and control 1A1. 00- V10 - V13
23 Type of connection and control 2A1. 00- V10 - V13
24 Type of connection and control 1A1. 01 - V10 - V13
25 Type of connection and control 2A1. 01 - V10 - V13
26 Type of connection and control 1A1. 10- V10 - V13
27 Type of connection and control 2A1. 10- V10 - V13
28 Type of connection and control 1A5. 14 - V10 - V13
29 Type of connection and control 1A7. 16 - V10 - V13
30 Tvpe of connection and control 1A1. 11- V10 - V13 - ADR
31 Tvpe of connection and control 2A1. 11- V10 - V13 - ADR
32 Type of connection and control 1A5. 17 - V10 - V13 - ADR
33 Type of connection and control 2A9. 13- M08 - M23 (available only as spare part)
34 Type of connection and control 2A4.13 - M08 - M23 (available only as spare part)
35 Type of connection and control 2A6. 15- M08 - M23
36 Type of connection and control 1A1. 10- H
37 Tvpe of connection and control 1A5. 14 - H
38 Tvpe of connection and control 1A1. 11- H- ADR
39 Tvpe of connection and control 1A5. 17 - H- ADR
40 Tvpe of connection without control p.c.b. 1A1. 00
41 Type of connection without control p.c.b. 1A8. 00
42 Type of connection without control p.c.b. 1A1. 01
43 Type of connection without control p.c.b. 2A1. 01
44 Tvpe of connection without control p.c.b. 1A1. 10
45 Type of connection without control p.c.b. 2A1. 10
46 Type of connection without control p.c.b. AC- 1A1. 01
47 Type of connection without control p.c.b. AC - 2A1. 01
48 Type of connection and control AC - 1A1. 01 -V10- V13
49 Type of connection and control AC - 2A1. 01 -V10- V13
50 Type of connection and control AC - 2A7. 16 - V10- V13
51 Type of connection and control AC - 3A6. 15 - M08 - M23
NOTE
The assemblies are to be used only for the calculation of the sales price. The item numbers are identi-
cal with those of the price list.
6001a02
Page 24 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . 2.0EN-20001-J10
Assemblies for pump model 203, continuation

4084b05

Fig. 22 Assemblies for pump model203, filling from bottom

Page 25 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Assemblies for pump model, continuation
Item Designation of assembly
o1 Lower part
02 Pump element K5
03 Pump element K6
04 Pump element K7, C7, S7
05 Pump element KR, B7, S7
06 Reservoir 2 XN
07 Reservoir 2 XL
12 Reservoir 4 XN
14 Reservoir 4 XL
17 Reservoir 8 XN
19 Reservoir 8 XL
22 Type of connection and control 1A1. 00- V10 - V13
23 Type of connection and control 2A1. 00- V10 - V13
24 Type of connection and control 1A1. 01 - V10 - V13
25 Type of connection and control 2A1. 01 - V10 - V13
26 Type of connection and control 1A1. 10- V10 - V13
27 Type of connection and control 2A1. 10- V10 - V13
28 Type of connection and control 1A5. 14 - V10 - V13
29 Type of connection and control 1A7. 16 - V10 - V13
30 Type of connection and control 1A1. 11- V10 - V13 - ADR
31 Type of connection and control 2A1. 11- V10 - V13 - ADR
32 Type of connection and control 1A5. 17 - V10 - V13 - ADR
35 Type of connection and control 2A6. 15- M08 - M23
36 Type of connection and control 1A1. 10- H
37 Type of connection and control 1A5. 14 - H
38 Type of connection and control 1A1. 11- H- ADR
39 Type of connection and control 1A5. 17 - H - ADR
42 Type of connection without control p.c.b. 1A1. 01
43 Type of connection without control p.c.b. 2A1. 01
44 Type of connection without control p.c.b. 1A1. 10
45 Type of connection without control p.c.b. 2A1. 10
46 Type of connection without control p.c.b. AC- 1A1. 01
47 Type of connection without control p.c.b. AC- 2A1. 01
48 Type of connection and control AC - 1A1. 01 -V10- V13
49 Type of connection and control AC - 2A1. 01 -V10- V13
50 Type of connection and control AC - 2A7. 16 - V10- V13
51 Type of connection and control AC - 3A6. 15 - M08 - M23
NOTE
The assemblies are to be used only for the calculation of the sales price. The tem numbers are identi-
cal with those of the price list.
6001a02
Page 26 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Electrical Central Lubrication Pump Model 223/233: 2L, 4L and 8L

Identification Codes

1173a01

Fig. 3-1 Assortment of electrical central lubrication pumps 223/233

The following parts belong to the scope of delivery of the pumps 223/233:

Pump bottom, with motor 12 or24 VDC and magnetic
switch for low-level control and membrane keypad
Reservoir (2, 4, 8 - liters), with grease filling 0.75 kg (for
2| reservoir), 1.5 kg (for 4- and 8- reservoir) with low-
level control
Pump element(s). 1- 3 pump elements can be used
The following models are available:
- for grease or oil supply with fixed lubricant output (K...)
Piston @5 mm; 2 cm3¥min
Piston @6 mm; 2.8 cm®/min
Piston @7 mm; 4 cm3¥min
- for grease supply with fixed lubricant output (B7) and
bypass, checkvalve, piston @ 7mm, 2 mm3¥min
- for grease supply with adjustable lubricant output (KR)
piston @ 7 mm; 0.7 cm?- 3 cm3min
Control printed circuit board, for 12/24 VDC
- The following models are available:
MDFOO0 (P233), MFOO (P223)
Electrical connections: see identification code

Type of connection: 2A6.15

Control p.c.b. MDF00 and MF00 with low-level control
- 1 bayonet plug with 10 m cable, 7-core
- 1 bayonet plug for 1 piston detector

Accessories:

- Pressure relief valve - must be ordered separately
(versions see Fig. 19-1 ff)
Fixing screws with accessories, drilling template and
operating instructions

- Low-level control — parts are located in the lower part of
the pump andin the reservoir

- Power supply unit —for connection to 230 VAC (if avail-
able), located in lower part of pump
IMPORTANT

The listed pump part numbers on the fol-
lowing pages represent only an excerpt of
the standard pump program.

600 1202 Special pumps or customized pumps are
not listed, howe ver, may be included by
chance.

Page 27 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259


EdiBench
Textfeld
Identification Codes


Subject to modification

User Information
Parts Catalog

Pump P 223 DC with control p.c.b. MF01/02

Reservoir for grease without low-level control; 10 m connecting cable

2.0EN-20001-J10

2 Litre Model 24 VDC Part no.
P223-2XN-1K6-24-2A6.15-MF01................. 644-46172-3

2 Litre, with reservoir lid Model 24 VDC Part no.
P223-2XLBO-1K6-24-2A6.15-MF01 ............ 644-40864-3

Pump P 233 DC with control p.c.b. MDFO01
Reservoir for grease with low-level control; 10 m connecting cable

2 Litre Model 24 VDC Part no.
P233-2XL-1K6-24-2A6.15-MDFO1............... 644-40824-1
P233-2XL-1K6-24-2A6.15-MDFO1............... 644-40824-4

2 Litre, with reservoir lid Model 24 VDC Part no.
P233-2XLBO-1K6-24-2A6.15-MDFO01 ......... 644-40824-2

4 Litre, with reservoir lid

Model 12VDC Part no. Model 24 VDC Part no.

P233-4XLBO-1K6-12-2A6.15-MDFO01.......... 644-46187-2 P233-4XLBO-1K6-24-2A6.15-MDFO01.......... 644-40826-2
... with follower plate
P233-4 XBF-1K6-24-2A6.15-MDFO01 ............ 644-40825-2

8 Litre, with reservoir lid ... with follower plate

Model 12VDC Part no. Model 24 VDC Part no.

P233-8XLBO-1K6-12-2A6.15-MDFO01.......... 644-46187-3 P233-8 XBF-1K6-24-2A6.15-MDFO01 ............ 644-40827-7

Pump P 233 AC with control p.c.b. MDFO01
Reservoir for grease with low-level control; 10 m connecting cable

4 Litre, with reservoir lid Model 230 VAC Part no.
P233-2XLBO-1KR-AC-3A6.15-MDFO01......... 644-40824-5

8 Litre, with reservoir lid Model 230 VAC Part no.
P233-8XLBO-1K6-AC-3A6.15-MDFO01 ........ 644-40867-1

Page 28 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



User Information
Parts Catalog

2.0EN-20001-J10
Identification Code — DC Pump Models P223 & P233

with control p.c.b. MF01/02 and MDFO01

Code examples:

P223 - 2 - L - 1 K6 -24 - 2A 15 - MFO1

NOTE

Any pump combinations other than the fol-

lowing standard pumps can be composed and

ordered in accordance with the valid model P223 - 8 -
6001202 identification code.

P233 - 4 - KR - 24 - 2A 15 - MDFO1

'_
ve}
o

P223 - 2 - K5 - 12 - 2A 15 - MF02

L BO-1 K7 -24-2A 14 - MFO1

X X X X X
—
N

o A O O O

P233 - 2 -

Basic pump model for grease

with 1-3 outlets and 12 VDC or 24 VDC motor

P223 = Pump without Datalogger
P233 = Pump with Datalogger

L - 1 K6 -24 - 2A 15 - MDFO1

Reservoir size
2= 2 litre trans parent plastic reservoir
4= 4 litre trans parent plastic reservoir
8= 8 litre trans parent plastic reservoir
15= 15 litre trans parent plastic reservoir

Reservoir design:
Available combinations Decoding

Subject to modification

1 | X =Reservair for grease
X Y = Reservair for oil

-X
-X
-X
-X
-X
-Y
-Y

BO 1] N = withoutlowdevel control

BO L = with low-level control

E B = with high- and low-level control
F"
BO 1] [...] = Standard reservoir (2 litre)
BO BO =Filling fromtop

F " =Reservair with follower plate

r2orrrzz2

Y The high- and low-level control cannot be combined with the integrated control p.c.b.

Pump elements \
1-3= Number of the use elements \

K5= Piston dameter =5 mm, output 2,0 cm¥mn
Ké6= Piston dameter =6 mm, output 2,8 cm¥min
K7= Piston dameter =7 mm, output 4,0 cm¥mn
KR = Piston dameter =7 mm, output adjustable

Connecting voltage
12= for 12 VDC motor
24= for 24 VDC motor

Number of electric connecting possibilities (on pump housing only)

2A = 2 connections:
- left for power supply and external illuminated pushbutton (operational
.. test & additional lubrication), Low-level control and fault indication
- right for piston detector (monitoring of the metering devices)

Type of connection ¥
5= Bayonet plug, 4-pole, DIN 72585-1
6= Bayonet plug, 7/5-pole, DIN 72585-1

2 other types of connection on request possible

Connection outside the pump

00= without socket-outlet, without cable

14% = Bayonet socket with 10 m cable, 4-wire
159 = Bayonet socket with 10 m cable, 7/5-wire

j) only with type of connection 2A5
only with type of connection 2A6

Control p.c.b.12V/ 24V

MF01 = with microprocessor control and membrane key pad
(pins 15/30 bridged)

MF02 9= with microprocessor control and membrane key pad
(pins 15/30 not bridged)

MDFO01 = with microprocessor control, Datalogger and membrane key pad
(pins 15/30 bridged)

% only with type of connection 2A6

Page 29 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Identification Code — AC Pump Models P223 & P233
with control p.c.b. MF01 and MDFO01

Code examples:

P23 -2-X L 1 K6 -AC-3A 6 15 - MFO1
NOTE

P233 -4-X L BO-1 KR-AC-3A &6 15 - MDFO1
Any pump combinations other than the fol-
lowing standard pumps can be composed and P23 -2-X L 2 KS-AC-3A & 15 - Mot
ordered in accordance with the valid model P23 -8-X L BO-1 K7-AC-3A &6 15 - MFO1

6001202 identification code.
P233 -2 -X L 1 K6 -AC-3A 6 15 - MDFO1

Basic pump model for grease

with 13 outlets and 12 VDC or 24 VDC motor
P223 = Pump without Datalogger

P233 = Pump with Datalogger

Reservoir size

=

2= 2 litre trans parent plastic reservoir
4= 4 litre trans parent plastic reservoir
8= 8 litre transparent plastic reservoir
15= 15 litre trans parent plastic reservoir

Reservoir design:

Available combinations Decoding

I 1nm | X =Reservaoir for grease

X N Y = Reservoir for oil
:§ E Bo ] N = withoutlow4evel control
X L BO L = with low-level control
X L E" B = with high- and low-level control
-X B F" .
.Y N BO 1 [...] = Standard reservoir (2 litre)
.Y L BO BO =Filing fromtop

F " =Reservair with follower plate

" The high- and low-level control cannot be combined with the integrated control p.

Pump elements \

c.b.

1-3= Number of the use elements \
K5= Piston dameter =5 mm, output 2,0 cm /mn

K6= Piston dameter =6 mm, output 2,8 cm /mn

K7= Piston dameter =7 mm, output 4,0 cm *Imin

KR =, Piston dameter = 7 mm, output adjustable

B7 = 3) Piston dameter =7 mm, output 2,0 cm’/min

s7=" Piston dameter =7 mm, output 4,0 cm”/min

" For use at ambient conditions with a high degree of pollution or high dust concentration

% for greases containing silicone

Connecting voltage

AC =110-130 VAC + 10%, 50-60 Hz + 5% (with 24 VDC direct current motor)

Number of electric connecting possibilities (on pump housing only)
3A = 3 connections:

- power supply (only square-type plug) left, buttom
- external illuminated pushbutton and low Ievesl control (bayonet plug 7/5) left, top
- plston detector (bayonet plug 4/4) right, top

Type of connection 1: Square-type plug
Type of connection 6 Bayonet plug

Type of con nection °

1= Square-type plug, DIN 43650 Design A
6= Bayonet plug, 7/5-core, DIN 72585-1

& other types of connection on request possible

Connection outside the pump

00= without socket-outlet, without cable
15= Bayonet socket with 10 m cable, 7/5-wire

Control p.c.b.12V/24V

MF01 = with microprocessor control and membrane key pad
MDFO01 = with microprocessor control, Datalogger and membrane key pad

Page 30 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Hand-Operated Central Lubrication Pumps

Models HP, HPG, HPGO

2.0EN-20001-J10

4160a98

416 1a98

Fig. 4-1 Pump HP 15

Reservoir capacity 400 ccm

Fig. 42 Pump HP G15

Reservoir capacity 400 ccm

Model designation Part no. Number of
HP 500 W 244-14164-1 outlets
6
8
10
12
Identification Code
HP 500 W =manual pump; 500 ccm with wall bracket
HPG 500 W =manual pump; 500 ccm with metering device (G) and wall bracket

Model designation

HP 500 W-SSV6
HP 500 W-SSV8
HP 500 W-SSV10
HP 500 W-SSV12

Part no.

604-28766-1
604-28767-1
604-28768-1
604-28769-1

Page 31 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Hand-Operated Central Lubrication Pumps, continuation

Models HP, HPG, HPGO

10002718

10002717

Fig. 4-3 Pump HP 15

Pump with one outlet, for grease

Reservoir capacity 1500 ccm

Fig. 44 Pump HPG 15

Pump with basic body “G”, for grease

Reservoir capacity 1500 ccm

Model designation Part no. Model designation Part no.
HP 15 604-25103-1 HPG 15 604-25109-2
Identification Code
HP 15 =manual pump; 1500 ccm
HPG 15 =manual pump; 1500 ccm with SSV 8 basic body (G)
HPGO 18 =manual pump for oil (O); 1800 ccm with SSV 8 basic body (G)
Pneumatically Operated Central Lubrication Pumps
Models PP, PPG, PPO, PPGO
1032296 103 1296
Fig. 5-1 Pump PP 15 Fig. 52 Pump PPG 15
Pump with one outlet, for grease Pump with basic body “G”, for grease
Reservoir capacity 1500 ccm Reservoir capacity 1500 ccm
Model designation Part no. Model designation Part no.
PP 15 604-25105-2 PPG 15 604-25111-3

Identification Code

PP 15 =pneumatically operated pump; 1500 ccm

PPG 15 = pneumatically operated pump; 1500 ccm with SSV 8 basic body (G)

Page 32 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Identification Code — Progressive Metering Devices SSV
& Connecting Elements

Examples: Standard and preassembled metering devices

Metering device SSV 6
Metering device SSV 6 - KS BU
Metering device SSV 12 - KN Di A
Metering device SSV 10 -K
Metering device SSV 8 - KA EX
Metering device SSV 8 S -KN TE
Metering device SSV 6 S -NP RV 6 / WEKYV 6
Metering device SSV 8 S -K RVV6 /WEKV6
) Metering device SSV 8 -K RV 6 / GEKV 6*
Metering device SSV 8 - KN TU -RVE /GE 10
) Metering device SSV 10 S -N RV 6 / WE 6*
Metering device SSV 10 S -KN Sl RV 6 + RVV6 /GEKV
Series
- SSV = Lubricant metering device
Number of outlets
- 6-22
Type of outlet fitting
- without designation = screw type
- S=push-intype
Monitoring
- without =no monitoring
- K= with indicator pin
- KS=  withindicator pin and limit switch
- KN=  withindicator pin and proximity switch
- KA=  withindicator pin and adapter
(proximity switch on the part of the user)
- N= with piston detector (2-wire, with cable)
- NE=  with piston detector and bayonet plug
- NP=  with piston detector (3-wire, plug with M12, plug-type)
Internal identification symbol for switch design “ I
Outlet fittings
- Without designation = Standard metering device without mounted
ouflet fitting
- RV 6 =Check valve for tube 8 6 mm, screw type
- for SSV.. S =RV 6 check valve for tube @ 6 mm, push-in type,
knurled pliers
- for SSV.. S =RVV 6 check valve fortube 8 6 mm, push-in type,
reinforced pliers
Inlet fittings
e G. GE 6/8/10,WE 6/8/10
inlet fitting, screw type for tube @6, 8 or 10 mm
for SSV..S push-in fitting for tube @ 6 mm
e G. GEKV 6, WEKV 6
pushin fitting, for main and secondary metering devices
always with reinforced pliers
Special Designs
- A= USA design with 1/8 NPTF internal thread
- Ex = Switch, explosionjproof
Material
- Without designation = standard design (steel)
- 1.4305 = steel V2A
- 1.4571 = steel V4A
" ATTENTION!
Mixed combinations of outlet fittings and and inlet fittings are possible:
- Push-in type inlet fittings & screw type ouitlet fittings
- Push-in type outlet fittings & screw type inlet fittings
1013A94
2 KNTU = Standard proximity switch
%) KSBU = Standard limit switch
Page 33 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




User Information
Parts Catalog

2.0EN-20001-J10

Identification Code — Progressive Metering Device SSVM

Examples: Divider SSVM 6 -KA
Divider SSVM 6 - K- A
Divider SSVM 8 -KS
Divider SSVM 12
Divider SSVM 10 - KN
Divider SSVM 8 -KS
Divider SSVM 6 -KN
Divider SSVM 10 - KS
Divider SSVM 12 - KN

Series
- SSVM = Lubricant metering device

Number of outlets
- 6-12

Monitoring

- K= withindicator pin

- KS = with indicator pin and limit switch

- KN =with indicator pin and proximity switch

- KA = with indicator pin and adapter (proximity switch by customer)

- A= USA design }

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements

Progressive Metering Device SSV (Standard Version)

Model Fixing & in mm Part no.
SSV6 6,4 619-26473-1
SSV8 6,4 619-25730-2
SSV10 6,4 619-26841-1
SSV12 6,4 619-25731-2
SSV 14 6,4 619-28862-1
SSV 16 6,4 619-28863-1
SSV 18 6,4 619-28864-1
4306b07 SSV 20 6,4 619-28865-1
Fig. 6-1 Assortment progressive metering devices SSV (standard SSV 22 6,4 619-28866-1
version) Piston dosure plug M11 x 1 303-19716-1

Bracket, assy. with attaching material

Dimension Application Part no.

60 x25 x25 as of SSV 14 519-34271-1

6515b07

£ Fig. 6-2 Bracket

Subject to modification

Page 34 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements
continuation

Progressive metering device SSV (high-grade steel 1.4305) V2 A

Model Fixing-& in mm Part no.

SSV 6 6.4 619-27471-1
SSvV 8 6.4 619-27473-1
SSV10 6.4 619-27475-1
SSV 12 6.4 619-27477-1
SSV 14 6.4 619-29063-1
SSV 16 6.4 619-29064-1
SSV 18 6.4 619-29065-1
SSV 20 6.4 619-29066-1

4473a02

Fig. 6-3 Progressive metering device SSV (high-grade steel
1.4305) V2 A

Progressive metering device SSV (high-grade steel 1.4571) V4 A

Model Fixing-& in mm Part no.

SSV 6 6.4 619-27824-1
SSV 8 6.4 619-27825-1
SSV10 6.4 619-27889-1
SSV 12 6.4 619-27900-1

Progressive metering device SSV with indicator pin (standard version)

Model Fixing-& in mm Part no.
SSV6-K 6.4 619-26474-3
SSV 8K 6.4 619-25754-4
SSV10-K 6.4 619-26842-2
SSV12-K 6.4 619-25755-4
SSV 14-K 6.4 619-28871-1
SSV 16-K 6.4 619-28872-1
SSV18-K 6.4 619-28873-1
SSV 20-K 6.4 619-28874-1
SSV22-K 6.4 619-28875-1
4307201
Fig. 6-4 Progressive metering device SSV with indicator pin (stan-
dard version)
Page 35 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

2.0EN-20001-J10

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements
continuation

Progressive metering device SSV with indicator pin"

Model Fixing-< in mm Part no.
SSV 6K 6.4 619-27472-1
SSV 8K 6.4 619-27474-1
SSV 10-K 6.4 619-27476-1
SSV 12-K 6.4 619-27478-1
SSV 14-K 6.4 619-29067-1
SSV 16-K 6.4 619-29068-1
SSV 18-K 6.4 619-29069-1
SSV 20-K 6.4 619-29074-1
Y high-grade steel 1.4305
4476202
Fig. 6-5 Progressive metering device SSV with indicator pin (high-
grade steel 1.43095)
Progressive metering device SSV with indicator pin and mounted limit switch?
2) - - .
Switch with1 m cable: part no. 236-13281-2 Model Fixing-@ in mm Part no.
SSV6-KS 6.4 619-27074-1
SSV 8-KS 6.4 619-27070-1
SSV 10-KS 6.4 619-27069-1
SSV 12-KS 6.4 619-27068-1
SSV 16-KS 6.4 619-28906-1
SSV 18-KS 6.4 619-28958-1
SSV 20-KS 6.4 619-28936-1

Progressive metering device SSV with indicator pin and mounted proximity switch

Subject to modification

% Proximity switch: PNP  part no. 234-10812-8 Switching
NPN part no. 234-13134-5 Model Fixing-@ in mm Part no. mode
SSV6-KN 6.4 619-27613-1 PNP
SSV 8-KN 6.4 619-27614-1 PNP
SSV 10-KN 6.4 619-27615-1 PNP
SSV 12-KN 6.4 619-27616-1 PNP
SSV 14-KN 6.4 619-29028-1 PNP
SSV 16-KN 6.4 619-28905-1 PNP
SSV 18-KN 6.4 619-28959-1 PNP
NOTE SSV 20-KN 6.4 619-28934-1 PNP
The mentioned metering devices are SSV6-KN 6.4 619-27953-1 NPN
equipped with proximity switches. Other SSV 8-KN 6.4 619-27918-1 NPN
proximity switches are available on re- SSV 10-KN 6.4 619-27961-1 NPN
6001a02 quest. SSV 12-KN 6.4 619-27962-1 NPN
Progressive metering device SSV with indicator pin and mounted proximity switch 4
4) .
high-grade steel 1.4305 Bt : b
g-Jin Switch
Model mm Part no. ing mode
SSV 6-KN (VA) 6,4 619-27633-1 PNP
SSV 8-KN (VA) 6,4 619-27634-1 PNP
SSV 10-KN (VA) 6,4 619-27635-1 PNP
SSV 12-KN (VA) 6,4 619-27636-1 PNP

Page 36 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements
continuation

Progressive metering device SSV with integrated piston detector for electric monitoring,

without connecting plug

6065b03

Fig. 6-6 Progressive metering device SSV with integrated piston
detector for electric monitoring, without connecting plug

Model

SSV 6-N

SSV 8-N

SSV 10-N
SSV 12-N
SSV 14-N
SSV 16-N
SSV 18-N
SSV 20-N
SSV 22-N

Mounted piston detector ...........

Fixing-Z in mm

6.4
6.4
6.4
6.4
6.4
6.4
6.4
6.4
6.4

standard cable length 3.0 m.

Part no.

619-28257-1
619-28258-1
619-28259-1
619-28260-1
619-28890-1
619-28907-1
619-28957-1
619-28935-1
619-29015-1

veeen.... partno. 519-34271-2

Progressive metering device SSV with integrated piston detector for electric monitoring, with

AMP connecting plug (only as spare part)

6053b03

Fig. 6-7 Progressive metering device SSV with integrated piston
detector for electric monitoring, with AMP connecting plug

Model

SSV 6-N
SSV 8-N
SSV 10-N
SSV 18-N

Fixing-Z in mm

6.4
6.4
6.4
6.4

Part no.

619-28521-1
619-28746-1
619-28747-1
619-29108-1

Progressive metering device SSV with integrated piston detector for electric monitoring, with
bayonet plug (Euro plug) for P203, P223 and P233

6052b03

Fig. 6-8 Progressive metering device SSV with integrated piston
detector for electric monitoring, with bayonet plug (Euro
plug)

Model Fixing-Z in mm Part no.

SSV 6-NE 6.4 619-29155-1

SSV 8-NE 6.4 619-29144-1

SSV 10-NE 6.4 619-29145-1

SSV 12-NE 6.4 619-29146-1
Mounted piston detector ... ................. part no. 519-34339-3

standard cable length 3.0 m.

6001a 02

NOTE

More piston detectors with various cable

length see Fig. 21-1 ff.

Page 37 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements

continuation
Progressive metering device SSV M
Model Fixing-&in mm  Part no.
SSV M6 55 619-26761-1
SSV M 6-K 55 619-26762-3
SSV M8 55 619-37044-1
SSV M 8-K 55 619-37045-3
SSV M 10 55 619-26846-1
SSV M 10-K 55 619-26847-2
SSV M 12 55 619-37049-1
4308007 | SSV M 12-K 55 619-37050-3
Fig. 69 Progressive metering device SSV M
OLD:
Outlet closure screw M8x 1x 5C 303-17530-1
NOTE Copper sealing ring >8x 10X 1 209-12464-7
Metering devices SSV M are not available NEW:
as high grade steel model! Outlet closure screw
6001a02 with sealing edge M8 x 1x 5C 303-16284-1
Progressive metering device SSV D Standard
Model F_|xmg-® Part no.
in mm
SSvVD6 6.6 649-29485-1
SSvD8 6.6 649-29486-1
SSV D10 6.6 649-29487-1
SSV D12 6.6 649-29488-1
SSv D14 6.6 649-29489-1
SSV D16 6.6 649-29587-1
SSv D18 6.6 649-29588-1
SSV D20 6.6 649-29589-1
SSv D22 6.6 649-29590-1
. With bypass bore
- - - - - - Fixing-&
Fig. 6-10 Progressive metering device SSV D with metering screws Model in mm Part no.
NOTE SSvD6/5 -VA1 6.6 649-29490-1
sSsvD8/7 -VA1 6.6 649-29491-1
Bypass bore: SSvD10/9 -VA1 6.6 649-29492-1
Outlet bores 1 and 2 are connected with SSV D 12/11-V1 6.6 649-29493-1
001202 each otherinternally. SSV D 14/13-V1 6.6 649-29494-1
SSV D 16/15-V1 6.6 649-29591-1
SSV D 18/17 -V1 6.6 649-29592-1
SSV D 20/19-V1 6.6 649-29593-1
SSV D 22/21-V1 6.6 649-29594-1
with indicator pin (pos. 1)
Model Fixing-& Part no.
in mm
SSVD6 -.-....K 6.6 649-29505-1
SSVD8 -.-....K 6.6 649-29506-1
SSVD10-.-......K 6.6 649-29507-1
SSVD12-.-....K 6.6 649-29508-1
SSVD14-.-....K 6.6 649-29509-1
SSVD16-..-......K 6.6 649-29595-1
SSVD18-.-......K 6.6 649-29596-1
SSVD20-.-......K 6.6 649-29597-1
6505507 SSVD22-.-....K 6.6 649-29598-1

Fig. 6-11 Progressive metering device SSV D with indicator pin

(pos. 1)
Page 38 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements
continuation

Progressive Metering Device SSV D, continuation

with indicator pin (pos. 1, Fig. 24) and bypass bore

Model Fixing-o
Inmm
SSVD6 —V-o-... K 6.6
SSVD8 —V--.. K 6.6
SSVD 10—V --.....-K 6.6
SSVD 12—V --.....K 6.6
SSVD 14—V --.... K 66
SSVD 16—V -.-.....-K 6.6
SSVD 18—V - . K 6.6
SSVD 20—V -.-.... K 6.6
SSVD22-V-.-... K 6.6

NOTE
Bypass bore:

Part no.

649-29510-1
649-29511-1
649-29512-1
649-29513-1
649-29514-1
649-29599-1
649-29600-1
649-29601-1
649-29602-1

Outlet bores 1 and 2 are connected with

each otherinternally.
6001a 02

6506b07

Fig. 6-12 Progressive Metering Device SSV D with piston detector

(pos. 2)

with indicator pin (pos. 1, Fig. 24)

and proximity switch (part no. 234-13134-3)

Model

SSVD6 -.-....
SSVD8 -.-....
SSVD10-.-......
SSVD12-.-......
SSVD14-.-......
SSVD16-..-......
SSVD18-.-......
SSVD20-..-......
SSVD22-.-......

-KN
-KN
-KN
-KN
-KN
-KN
-KN
-KN
-KN

Fixing-&
inmm
6.6
6.6
6.6
6.6
6.6
6.6
6.6
6.6
6.6

Part no.

649-29515-1
649-29516-1
649-29517-1
649-29518-1
649-29519-1
649-29603-1
649-296 04-1
649-29605-1
649-296 06-1

with indicator pin (pos. 1, Fig. 24), bypass bore

and proximity switch (part no. 234-13134-3)

Model

SSVD6 -V-.
SSVvD8 -V-.
SSVD10-V-.
SSVD12-V-.
SSVD14-V-.
SSVD16-V-.
SSVD18-V-.
SSVD20-V-.
SSVvD22-V-.

ceeeemKN
ceeemKN
ceee.mKN
ceee.mKN
ceeeemKN
ceee.mKN
ceeemKN
ceee.mKN
ceee.mKN

Fixing-&
inmm
6.6
6.6
6.6
6.6
6.6
6.6
6.6
6.6
6.6

Part no.

649-29520-1
649-29521-1
649-29522-1
649-29523-1
649-29524-1
649-29607-1
649-29608-1
649-29609-1
649-29610-1

with piston detector (pos. 2) for electrical monitoring

Fixing-&

Model . Part no.
in mm

SSVD6 -.-.....-N 6.6 649-29495-1
SSVvD8 -.-.....-N 6.6 649-294 96-1
SSVD10-..-......-N 6.6 649-29497-1
SSVD12-.-......-N 6.6 649-29498-1
SSVD14-.-.....-N 6.6 649-29499-1
SSVD16-..-......-N 6.6 649-29611-1
SSVD18-.-......-N 6.6 649-296 12-1
SSVD20-..-......-N 6.6 649-296 13-1
SSVvD22-.-.....-N 6.6 649-296 14-1
Mounted piston detector ................... part no. 519-34271-2

with piston detector (Pos. 2) for electrical monitoring and

bypass bore

Model

SSVD6 —-V-.-....
SSVD8 —-V-.-.....
SSVD10-V-.-......
SSVD12-V-.-......
SSVD14-V-.-.....
SSVD16-V-.-......
SSVD18-V-.-......
SSVD20-V-.-......
SSVD22-V-.-......

Mounted piston detector .........

-N
-N
-N
-N
-N
-N
-N
-N
-N

Fixing-&
inmm

e
loNoRoNoRoRoR RO

Part no.

649-29500-1
649-29501-1
649-29502-1
649-29503-1
649-29504-1
649-296 15-1
649-296 16-1
649-29617-1
649-29618-1

eevvo.... part no. 519-34271-2

Page 39 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements
continuation

Progressive Metering Device SSV D, continuation

with piston detector (part no. 519-34339-3) for electrical
monitoring and bayonet plug
Model F?xing-@ Part no.
in mm
SSVD6 - ..-.....-NE 6.6 649-297 06-1
SSvD8 - ..-....-NE 6.6 649-29707-1
SSVD10-..-......-NE 6.6 649-29708-1
SSVD12- ..-......-NE 6.6 649-297 09-1
SSVD14- .-....-NE 6.6 649-29710-1
SSVD16— ..-......-NE 6.6 649-29711-1
SSVD18—- ..-......-NE 6.6 649-297 12-1
esasb0s | SSV D20— .-......-NE 6.6 649-297 13-1
Fig. 6-13 Progressive Metering Device SSV D with piston detector SSVD22- .-...-NE 6.6 649-29714-1
(pos. 2) and bayonet plug
with 3-wire piston detector (part no. 519-34339-5) for with 3-wire piston detector (part no. 519-34339-5) for
electrical monitoring electrical monitoring and bypass bore
Model F_ixing-@ Part no. Model F?xing-@ Part no.
inmm in mm
SSVD6 -.-.....-NP 6.6 649-29525-1 SSVD6 —-V-.-.....-NP 6.6 649-29530-1
SSVD8 -.-.....-NP 6.6 649-29526-1 SSVD8 —-V-.-.....-NP 6.6 649-29531-1
SSVD10-..-......-NP 6.6 649-29527 -1 SSVD10-V-..-.....-NP 6.6 649-29532-1
SSVD12-..-......-NP 6.6 649-29528-1 SSVD12-V-.-.....-NP 6.6 649-29533-1
SSVD14-..-......-NP 6.6 649-29529-1 SSVD14-V-.-.....-NP 6.6 649-29534-1
SSVD16-..-......-NP 6.6 649-29619-1 SSVD16-V-.-.....-NP 6.6 649-29623-1
SSVD18-..-......-NP 6.6 649-29620-1 SSVD18-V-.-.....-NP 6.6 649-29624-1
SSVD20-..-......-NP 6.6 649-29621-1 SSVD20-V-..-.....-NP 6.6 649-29625-1
SSVD22-..-......-NP 6.6 649-29622-1 SSVD22-V-.-.....-NP 6.6 649-29626-1
Metering screws
Output Code Qty. Part nor.
0.08 cm? A 12 549-34254-1
0.14 cm? B 12 549-34254-2
0.2 cm? C 12 549-34254-3
0.3 cm? D 12 549-34254-4
04 cm? E 12 549-34254-5
06 cm? F 12 549-34254-6
0.8 cm? G 12 549-34254-7
1.0 cm? H 12 549-34254-8
6516505 1.4 cm? | 12 549-34254-9
Fig. 6-14 Assortment metering screws 1.8 cm? J 12 549-34255-1
0.08-1.8cm? A-J a2=20 549-34255-2
Bracket assy
Dimension Application Part no.
32x25 as of SSV 16 449-70906-1

6547b05

Fig. 6-15 Bracket

Page 40 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

SSV inlet fittings, screw type

Male connector

1087a96

2.0EN-20001-J10

Fig. 7-1  Male connector

Male elbow

1088a96

Fig. 72 Male elbow

Model Part no.
Standard

GE4 -LLR 1/8KC 223-12270-8
GE6 -LLR 1/8KC 223-12270-7
GE8 -LLR 1/8KC 223-12270-9
High-grade steel (1.4571)

GE4 -LLR1/8K 223-13614-8
GE6 -LLR1/8K 223-13614-9
GES8 -LLR 1/8K 223-13658-1
Model Part no.
Standard

WE 6 - LLR 1/8 KC 223-12485-9
WE 8 - LLR 1/8 KC 223-13021-6
High-grade steel (1.4571)

WE 4 -LLR 1/8 K 223-13677-8
WE6 - LR 1/8 K 223-13620-8
WEG6 - LLR 1/8 K 223-12453-7

Page 41 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

SSV inlet fittings, screw type, continuation

Hydraulic lubrication fitting for metering device inlet

1089a96

2.0EN-20001-J10

Fig. 7-3 Hydraulic lubrication fitting for metering device inlet

Model Thread Part no.
Standard

Hydraulic lubrication fitting, AR1/8Z 251-14040-1
straight

Hydraulic lubrication fitting, 45° BR 1/8 Z 251-14045-1
Hydraulic lubrication fitting, 90° CR 1/8Z 251-14040-2
High-grade steel (1.4571)

Hydraulic lubrication fitting, 45° A2BR 1/8 251-140634
Hydraulic lubrication fitting, R 1/8 251-14073-9

straight with check valve

Connecting Elements for Lubrication Points and Lubricant Feed Lines

Identification Code for Fittings

Example s of model designations

Fitting type abbreviation

GE 6
WE 6
GE - 4
SWVE - 6
TR - 10610 -
T

L
LL
LL
LL

LL

- M10x1K -

G18A
M8x1K
R1/8K -

iOOOOOO

Tube diameter (mm)

Series (LL, L)

Male thread, conical or cylindrical

Finish,yelow-chromate

Page 42 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Quick Connecting Fittings, push-in type (Quicklinc)

Identification code for quick connecting fittings

Examples of model designations

WEK - 6500 6 M8x1 - SO1
GEK - 8 6510 4 R1/8 - S02
SW -V 6540 6 - M10x1 - SO1
GS - 6580 6 S02
TS - 6540 6 S01

Fitting type abbreviation

S — Sealing on thread ‘
V - reinforced clamping ring

Type designation (manufacturer)

Tube diameter (mm)

Male thread, conical (f any)

Special designs

SSV /SSV M /SSV D - Quicklinc - Inlet fittings, push-in type

Male connector

Model %) Part no.

GEKV S6510-6-1/8-S01 6 mm 226-14111-1"

IMPORTANT NOTE

To be used only for a connection for hose
stud with groove.

600 1a02

Y Dimensions see Fig. 27-7

1090a96

Fig. 81 Male connector

Male elbow
Model 1) Part no.
WEKYV S6500-6-1/8-S01 6 mm 226-13753-92
IMPORTANT

To be used only for a connection for hose
stud with groove.

600 1a02

? Dimensions see Fig. 27-8

1091296

Fig. 82 Male elbow

Page 43 of 112
LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

SSV/ SSV D - Outlet fittings with check valve, screw type

Standard
Item Tube-& Part no.
Outlet fitting assembly SSVM
Complete with check valve 4 mm 519-31661-1
Consisting of:
1 Coupling nut 4 mm 223-13032-1
2 Cutting ring 4 mm 223-14083-3
3 Valve body M8x1 519-31612-1
Clamping ring 419-22603-4
Outlet fitting assembly SSV
Complete with check valve 4 mm 504-30345-2
Consisting of:
4239A99 1 Coupling nut 4 mm 223-13032-1
Fig. 9-1 Standard or high-grade version 1.4571 2 Cutting ring 4 mm 223-14083-3
3 Valve body with clamping M10x 1 504-30517-2
ring

Opening pressure of the
check valve in the valve body: 6 -8 bar

Outlet fitting assembly SSV

Complete with check valve 6 mm 504-30344-4
Consisting of:
1 Coupling nut 6 mm 223-14084-3
2 Cutting ring 6 mm 223-12295-2
3 Valve body with clamping M10x 1 504-30364-4
ring
Check valve for tube @ 8 mm
with long adapter (32 mm) 504-31864-1
with short adapter (18 mm) 504-31863-1
IMPORTANT

Use only the above mentioned outlet fit-
tings (items 1-3, see Fig. 9-1).

6001a02

Outlet Fittings, screw type (high-grade steel 1.4571)

Item Tube-Z Part no. Item Tube-& Partno.
Outlet fitting assembly SSV Outlet fitting assembly SSV
Complete with check valve 4mm 504-31709-1 Complete with check valve 6 mm 504-317 05-1
Consisting of: Consisting of:
1 Coupling nut 4mm 223-13638-6 1 Coupling nut 6 mm 223-13638-2
2 Cutting ring 4mm 223-13639-5 2 Cutting ring 6 mm 223-13639-2
3 Valve body with clamping M 10 x1 504-31704-2 3 Valve body with clamping M 10x 1 504-31712-2
ring ring
IMPORTANT

Use only the above mentioned outlet fit-
tings (items 1-3, see Fig. 9-1).

6001a02

Page 44 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

SSV Outlet fittings, screw-type without check valve

Outlet fittings, screw-type, without check valve

6056b03

Fig. 10-1 Outlet fittings, screw-type, without check valve

IMPORTANT

Only suitable
- for pressure platic tube
- with open tube end

600 1a02 - foroil

SSV/ SSV M /SSV D - Quicklinc outlet fitting, push-in type

2.0EN-20001-J10

Item Tube-& Partno.
Standard SSVM

Consisting of:

1 Coupling screw 4 mm 419-22604-2
2 Sealing & clampingring 4 mm 419-22603-4
Standard SSV

Consisting of:

1 Coupling screw 6 mm 404-20236-4
2 Sealing & clampingring 6 mm 404-23034-1
High-grade steel 1.4571 only SSV

Consisting of:

1 Coupling screw 6 mm 404-23668-1
2 Sealing & clampingring” 6 mm  404-23034-1

Y for pressure plastic tube @6 x15 m

(connections for GEM 8 x 1 and M 10 x 1)

Valve Body, straight

1092a96

Fig. 11-1 Reinforced version for the connection of hose studs

From the main metering device to the secondary meter-

ing device, reinforced version

Designation Tube-@ Part no.

valve body 6 mm
With clamping ring
RWV 6511-6-M 10 x 1-S02

2 Dimensions see Fig. 27-10

IMPORTANT

226-140914 2

Use the valve body only for connecting the
high-pressure plastic hose (incl. hose stud
with groove) to the main metering device.

600102 The clamping ring of the valve body is not
knurled and has a wide collar.

Adequate for 350 bar.

Page 45 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
SSV/ SSV M /SSV D - Quicklinc outlet fitting, push-in type, continuation

(connections for GEM 8 x 1 and M 10 x 1)

Valve Body, straight, continuation

From the secondary metering device to the lube point,
Standard

Designation Tube-& Part no.
SSVM valve body 4 mm

with clamping ring
RV 6511-4-M 8 x 1-S02 226-14091-5

SSV valve body 4 mm
with clamping ring
RV6511-4-M 10 x 1-S02 226-14091-6

1093a96

Fig. 11-2 Standard version for the connection of pressure plastic
tube SSV valve body 6 mm

with clamping ring
RV 6511-6-M 10 x 1-S01 226-14091-2"

) Dimensions see Fig. 27-10

IMPORTANT

Use the valve body only for connecting the

pressure plastic tube (B 4x 1.5mmor 6 x

1.5mm). The clamping ring of the valve
6001202 body is knurled and has a narrow collar.

Valve Body 90° with clamping ring

From the main metering device to the secondary meter-
ing device, reinforced version

Designation Tube-&  Part no.

WRWV 6521-6-M 10 x 1 6 mm 226-14091-8"

IMPORTANT

Use the valve body only for connecting the

high-pressure plastic hose (incl. hose stud

with groove) to the main metering device.
6001202 The clamping ring of the valve body is not

knurled and has a wide collar.

Adequate for 350 bar

6548b05

Fig. 11-3 Reinforced version for the connection of hose studs From the secondary metering device to the lube point,
Standard
Designation Tube-& Part no.
WRYV 6511-6-M 10 x 1 6mm  226-14091-9"

) Dimensions see Fig. 27-11

Page 46 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Closure Plugs

Closure Plug SSV M (for internal combining of outlets)

. . Thread-
Item Designation & inner & Part no.
SSVM
1 Copper washer g 8mm 209-12464-7
2 Closure plug M8 x1 303-17530-1
1094296
Fig. 12-1 Closure plug SSV M
Closure Plug SSV, SSV M, SSV D (for internal combining of outlets)
. . Thread-
Designation & inner & Part no.
SSVM
Standard
Closure plug M8x 1 303-16284-1
~2 | sSVand SSVD
Fig. 12-2 Closure plug SSV, SSV D Stan::rd
Closure plug M10x 1 303-17499-3
High grade steel (1.4571)
Closure plug M10x 1 303-19346-2
O-ring (not shown) 210 x1 219-13798-3

NOTE

Use O-ring only ifthe closure plug (which

is provided with a bind head ring) does not

seal correctly any longer after tightening it
600102 at 18 Nm.

Page 47 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

2.0EN-20001-J10
Other Fittings

External outlet combining element, screw-type

Part no.
519-31826-1

NOTE

With the outlet-combining element, the
grease quantities of outlet 2 and 1 of me-
tering devices SSV 6 to 22 (see Fig. 13-1)
6001202 and the grease quantities of the two out-
lets with the highest numbers of the com-
6054603 bined metering devices SSV 14 to 22 can

Fig. 13-1 Outlet combining element, screw-type be supplied to one lube point.

Fixing parts

Subject to modification

Designation Dimension Part no.
Standard
Hexagon head screw M6 x40 C 200-12000-3
Hexagon head screw M6 x50 C 200-12037-6
Hexagon head screw M5 x45 C 200-13017-5
Hexagon head screw M5 x 55 C 200-13092-2
Hexagon head screw M6 x 45 C 200-13092-3
Hexagon head screw M6 x 55 C 200-13037-7
Hexagon head screw M6 x 60 C 200-13037-3
Hexagon socket head screw M6 x45 C 201-12019-3
Hexagon socket head screw M6 x60 C 201-12019-6
1095496 Hexagon nut M5 C 207-12138-2
Hexagon nut M6 C 207-12135-5
Fig. 13-2 Fixing parts Hexagon head screw + washer M8 x40 C 200-14165-1
Spring-lock washer A6 C 213-12168-8
Tooth-lock washer J53z 210-12161-9
Washer, ST A8.4C 209-13077-1
Seal-lock Hexagon nut M8 207-12516-1
Hexagon head screw M8 x 30 C 200-12007-6

High-grade steel (1.4571)

Hexagon head screw M6 x 60 200-13726-1
Hexagon socket head screw M6 x 45 201-13741-4
Hexagon socket head screw M6 x 50 201-13741-5

Washer 6.4 209-12152-9
Washer A6.4 209-13683-2
Hexagon nut M6 207-13657-6

Page 48 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Other Fittings, continuation

SSV-pressure control

6518b05

Fig. 13-3 SSV-pressure control

2.0EN-20001-J10

SSV Pressure control, assy. with threaded housing

Designation

Pressure indicator
Pressure indicator
Pressure indicator
Pressure indicator

Dimension
female thread

M10 x 1
M10 x 1
M10 x 1
M10 x 1

Connecting Elements, Screw-Type

Male connector (Tube @ 4 mm)

1087a96

Fig. 14-1 Male connector (tube @ 4 mm)

Model

Standard
GE4-LLM 6x 1KC
GE4-LLM 8x 1KC
GE4-LLM 10x 1KC
GE4-LLR 1/8 KC

Y Dimensions see Fig. 27-1

Pressure Part no.

50 bar  532-32680-1
200 bar  532-32681-1
270 bar  532-32682-1
400 bar  532-32683-1

Part no.

223-12533-5"
223-12271-8 "
223-13069-1 "
223-12270-8 "

Page 49 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Connecting Elements, Screw-Type, continuation

Male connector (tube @6 mm)

1087296

Fig. 14-2  Male connector (tube @ 6 mm)

Male connector (tube @8 mm)

1087296

Fig. 14-3  Male connector (tube @ 8 mm)

Male elbow (tube @ 4 mm)

1088a96

Fig. 14-4  Male elbow (tube @4 mm)

Page 50 of 112

2.0EN-20001-J10

Model Part no.
Standard
GE6-LLM 6x 1KC 223-12533-9 "
GE6-LLM 8x 1KC 223-13023-1"
GE6-LLM 10 x 1KC 223-12271-7"
GE6-LLR 1/8KC 223-12270-7 "
GE6-LG 1/4AC 223-12477-8
High-grade steel (1.4571)
GE6-LLM 6x 1K 223-13658-7
GE6-LLM 8 x 1K 223-13658-6
GE6-LLM 10 x 1K 223-13658-5
GE6-LLG 1/8A 223-13614-9
GE6-L 1/8 NPTA 223-13784-2
GE6-LG 1/8A 223-13658-2
GE6-LG 1/4A 223-13658-9
") Dimensions see Fig. 27-1
Model Part no.

GES8-LLM 10x 1KC
GES8-LM 12 x 1.5KC
GES8-LLR 1/8KC
GES8-LLR 1/4KC
GES8-LG 1/4AC

%) Dimensions see Fig. 27-1

Model

WE4-LLM 6 x 1KC
WE4-LLM 8 x 1KC
WE4-LLM 10 x 1KC
WE4-LLR 1/8KC

*) Dimensions see Abb. 27-2

223-13021-1?
223-12361-6 2
223-12270-9?
223-13621-6?
223-12477-6

Part no.

223-12533-6°
223-13021-5%
223-13069-2%
223-13021-4%

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Connecting Elements, Screw-Type, continuation

Male elbow (tube @ 6 mm)

1088a96

Fig. 14-5 Male elbow (tube @ 6 mm)

Male elbow (tube @ 8 mm)

1088a96

Fig. 14-6 Male elbow (tube @ 8 mm)

Extension adapter

1097296

Fig. 14-7 Extension adapter

1)

Model

Standard

WE6-LLM 6 x 1KC
WE6-LLM 8 x 1KC
WEB6-LLM 8 x 1.25KC
WES6-LLM 10 x 1KC
WEB6-LLR 1/8KC
WEB-LR 1/4KC

High-grade steel (1.4571)
WE6-LLM 6 x 1K
WE6-LLM 8 x 1K
WES6-LLM 10 x 1K
WES6-LLR 1/8K

WES6-LR 1/8K
WES6-LR 1/4K
WEB-SR 1/4K

Dimensions see

Model

Fig. 272

WES-LLM 10 x 1KC

WES8-LM 12 x

1.5KC

WES-LLR 1/8KC
WES8-SR 1/4KC

?) Dimensions see Fig. 27-2

Model

RK 605

chromated

Thread,
female

M8 x1
M10x 1
M10x 1
M10x 1
G 1/8

M8 x1
M8 x1

*) Dimensions see Fig. 27-4

) for Renault

Thread, male

M8x1K
M10x 1KC
R 1/8KC
M12x 1KC
M8 x1KC

M8x1.25 KC*¥

M6 x1KAC

2.0EN-20001-J10

Part no.

223-13023-2 "
223-13023-3 "
223-13763-4
223-13021-3 "
223-12485-9 "
223-12380-6

223-13677-4
223-13677-2
223-13677-3
223-12453-7
223-13620-8
223-13794-1
223-13620-1

Part no.

223-12362-4 %
223-12362-8 2
223-13021-6 2
223-13048-4

Part no.

304-19437-1%
304-19509-1%
304-19230-1%
712-12724-7%
304-19167-1%
304-19548-1%
304-19787-1°

Page 51 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

Connecting Elements, Screw-Type, continuation

Adapter 90°

1098a96

Fig. 14-8 Adapter 90°
Adapter 45°

1099296

Fig. 14-9 Adapter 45°

Banjo connector 90°

1100a96

Fig. 14-10 Banjo connector 90°

Subject to modification

Page 52 of 112

Thread, female

Thread, male

M8x1C M8x 1K

M8x1C M10x1 K

G 1/8 R1/8 K
NOTE

2.0EN-20001-J10

Part no.

432-24043-1
432-24052-1
432-70674-1

When screwing in a threaded fitting take
care that the outlet borehole of the elbow
fittings is not closed by the threaded piece

of the

600 1a02

Thread, female

inlet fitting.

Thread, male

Part no.

432-24050-1
432-24051-1
432-70673-1
432-71483-1

When screwing in a threaded fitting take
care that the outlet borehole of the elbow
fittings is not closed by the threaded piece

M 8x1 M 8x1K
M 8x1 M10 x1 K
G 1/8 R 1/8 K
M 10 x 1 M 8x1K
NOTE

600 1202 ofthe inlet fitting.
Model Tube-&
SWV E4-LLG 1/8 AC 4 mm
SWV E4-LLM 10x1C 4 mm
SWV E6-LLG 1/8 AC 6 mm
SWV E6-LLM 10x1C 6 mm

) Dimensions see Fig. 27-3

Part no.

223-13629-1 "
223-12480-8 "

223-12479-9 "
223-12480-7 "

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



User Information

Parts Catalog

2.0EN-20001-J10

Connecting Elements, Screw-Type, continuation

Straight swivel

1101296

Fig. 14-11 Straight swivel

90° angle swivel

1102a96

Fig. 14-12 90° angle swivel

Straight swivel

6057b03

Fig. 14-13 Straight swivel

Subject to modification

Model Part no.
1/8ix 1/8 a NPT 223-12567-3
NOTE
To be used only for occasional rotary
movements.
600 1a02
Maximum admissible pressure ..............cccoeceveienieeene .. 50 bar
Model Part no.
1/8ix 1/8 a NPT 223-12567-1
NOTE
To be used only for occasional rotary mo-
tions.
600 1a02
Maximum admissible pressure ..............cccoeceeeieeceeenc .. 50 bar
Connecting thread Part no.
G, AxG¥% A C 626-25721-2
G's AXG¥ A C 626-25720-2
G'ls Axtube @4mm C 626-26696-2
G'ls Axtube @6mm C 626-26697-2
Gy Axtube @4 mmC 626-26698-2
G'ls Axtube @6mm C 626-26699-2
Maximum admissible speed ............ccc.. oo e 80 rpm
Maximum admissible pressure ..............cccceeeeveeen e .100 bar
Page 53 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . 2.0EN-20001-J10
Connecting Elements, Screw-Type, continuation

90° angle swivel

Connecting thread Part no.
G'IsAXG'IsAC 626-25716-2
G's AXG'IsA C 626-25540-2
G'ls Axtube @4 mm C 626-26700-2
G 'l Axtube @6 mm C 626-25438-2
G's Axtube @4mm C 626-26701-2
G's Axtube @6mm C 626-25717-2

Maximum admissible speed .............ccc.cooiei i 80 rpm

Maximum admissible pressure ...............cccoeeeeei e, .100 bar

6058b03
Fig. 14-14 90° angle swivel
Union

Model Part no.
Standard
G4-LLC 4 mm 223-12531-8
GB-LLC 6 mm 223-12482-9"

High-grade steel
G6-LL 6 mm 223-12454-7

") Dimensions see Fig. 27-5

1103a96

Fig. 14-15 Union

Union-tee
Model Part no.
Standard
T4-LLC 4 mm 223-12563-5
T6-LLC 6 mm 223-12484-92
T6-LC 6 mm 223-12484-2

High-grade steel
T6-L 6 mm 223-12455-7

) Dimensions see Fig. 27-6

1104296

Fig. 14-16 Union-tee

Page 54 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

Quicklinc Connecting fittings, push-in type

Male connector

1111296

Fig. 15-1 Male connector, standard design

4138A97

Fig. 15-2 Male connector, push-in type, with reinforced collar

1)

Model

Standard
GEK65104-M
GEK65104-M
GEK65104-M 1

GEK 6510-4-1/8-S01

GEK6510-6-M
GEK6510-6-M
GEK6510-6-M 1

GEK 6510-6-1/8-S01
GEK S$6510-6-1/8-S02
GEZ-S 6510-6-1/4

Tube @

6 x 1-S01
8 x 1-S01
0x 1-S01

4mm
4mm
4mm
4mm

6 x 1-S01
8 x 1-S01
0x 1-S01

6mm
6 mm
6 mm
6 mm
6 mm
6 mm

Dimensions see Fig. 27-7

IMPORTANT

Use this fitting only for the connection to
the lubrication points. It is suitable for the
connection of the pressure plastic tube
(@4 x1und6x1,5mm)only.

6001a02

Model

Special fittings

GEZ 6512-3-M 3
GEK6512-4-M 5
GEK6512-4-M 6
GEZ 6512-4-M 6
GEK6512-4-M 8

GEK6512-6-M 6
GEK6512-6-M 8

Model

Reinforced design

GEKYV 6510-6-M6 x 1-S03
GEKV 6510-6-M8 x 1-S03
GEKV 6510-6-M10 x 1-S03
GEKYV 6510-6-1/8-S01
GEZV 6511-6-1/4-S01

Tube @

3mm
4mm
4mm
4mm
4mm

x 0.75
X1

6 mm

X 1 6 mm

Tube O

6 mm
6 mm
6 mm
6 mm
6 mm

IMPORTANT NOTE

Use this fitting only for the connection to
the lubrication points, if the pressure plas-
tic tube is replaced by high-pressure

6001a02

2.0EN-20001-J10

Part no.

226-13752-3"
226-13752-1"
226-13752-2"
226-13752-4"

226-13752-8"
226-13752-7"
226-13752-6 "
226-13752-9"
226-14111-5"
226-13746-9

Part no.

226-10210-8
226-10210-5
226-10210-6
226-10210-9
226-10210-7

226-10210-3
226-10210-4

Part no.

226-141114
226-141112
226-14111-3
226-14111-1
226-14139-1

hose. Suitable for a pressure of 350 bar.

Page 55 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Quicklinc Connecting Elements, Push-in Type, continuation

Male elbow
Model Tube @ Part no.
Standard design
WEK 6500-4-M 6x1-S01 4 mm 226-13753-5"
WEK 6500-4-M 8 x 1-S01 4 mm 226-13753-1 "
WEK 6500-4-M 10 x 1-S01 4 mm 226-137532 "
WEK 6500-4-1/8-S01 4 mm 226-13753-3 "
WEK 6500-6-M 6x1-S01 6 mm 226-13753-7 "
WEK 6500-6-M 8x1-S01 6 mm 226-13753-8 "
WEK 6500-6-M 10 x 1-S01 6 mm 226-137536 "
WEK 6500-6-1/8-S01 6 mm 226-137534 "
WEK S6500-6-1/4-S01 6 mm 226-14123-1
1109296
Fig. 15-3 Male elbow with knurled collar WEK 6500-8-1/8-S01 8 mm 226-14123-6

Y Dimensions see Fig. 27-8

IMPORTANT NOTE

Use this fitting only for the connection of

the lubrication points. The fitting is de-

signed only for the connection of the pres-
6001a02 sure plastic tube @ 4 x 1 mm and

@6 x1.5mm.

Model Tube @ Part no.

Reinforced collar

WEKYV - 6500-6-M6 x 1-S03 6 mm 226-141234
WEKYV - 6500-6-M8 x 1-S03 6 mm 226-14123-2
WEKYV - 6500-6-M10x 1-SO03 6 mm 226-14123-3
WEKYV - 6500-6-1/8-S02 6 mm 226-14123-5

IMPORTANT NOTE

Use this fitting only for the connection to

the lubrication points, if the pressure plas-

tic tube is replaced by high-pressure
6001202 hose with hose stud and threaded sleeve.

Suitable for a pressure of 350 bar.
4139297

Fig. 15-4 Male elbow with reinforced collar

Page 56 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Quicklinc Connecting Elements, Push-in Type, continuation

Male elbow, rotary

1120a96

Fig. 15-5 Male elbow, rotatable, standard design

4140a97

Fig. 15-6 Male elbow, rotatable, reinforced collar

4467a02

Fig. 15-7 Male elbow, rotatable, standard design

1)

Model

Standard design

WEDK 6520-4-M6 x 1-S01
WEDK 6520-4-M8 x 1-S01
WEDK 6520-4-M10 x 1-S01
WEDK 6520-4-1/8-S01

WEDK 6520-6-M6 x 1-S01
WEDK 6520-6-M8 x 1-S01
WEDK 6520-6-M10 x 1-S01
WEDK 6520-6-1/8-S01
WEDZ 6522-6-1/4

Dimensions see Fig. 27-9

NOTE

Tube @

4 mm
4 mm
4 mm
4 mm

6 mm
6 mm
6 mm
6 mm

6 mm

Part no.

226-13756-6 "
226-13756-1"
226-13756-2 "
226-13756-3 "

226-13756-7 "
226-13756-4"
226-13756-5"
226-13756-8 1

226-13776-1

Use only for occasional rotary motions;
pivoting angle < 180 °. For other applica-
tions use a straight rotary swivel, 90° or a

6001a02 similar fitting.

Model

Reinforced collar
WEDKY 6520-6-1/8-S02
WEDKY 6520-6-1/4-S02

WEDKY 6520-6-M10 x 1-S02

WEDKY 6520-6-M8 x 1502
WEDKY 6520-6-M6 x 1599

IMPORTANT

Tube &

6 mm
6 mm
6 mm
6 mm
6 mm

Part no.

226-13756-9
226-14157-4
226-14157-2
226-14157-1
226-14157-3

Use this fitting only for the connection to
the lubrication points, if the pressure plas-
tic tube is replaced by high-pressure
6001202 hose with hose stud and threaded sleeve.
Suitable for a pressure of 350 bar

Model Tube & Part no.

Reinforced collar for 350 bar

WEDZV 6622-6-M10 x 1-S 6 mm 226-10223-6

WEDZV 6622-6-M8 x 1-S 6 mm 226-10223-4

WEDZV 6622-6-1/8 -S 6 mm 226-10223-2

Standard design

WEDZ 6622-6-M10 x 1-S 6 mm 226-10223-5

WEDZ 6622-6-M8 x 1-S 6 mm 226-10223-3

WEDZ 6622-6-1/8 -S 6 mm 226-10223-1
Page 57 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Quicklinc Connecting Elements, Push-in Type, continuation

Male elbow, continuation

1120b05

Fig. 15-8 Male elbow, rotatable, standard design

Banjo connector

10002705

Fig. 15-9 Banjo connector

T-piece, reinforced

10002704

Fig. 15-10 T-piece, reinforced

Page 58 of 112

Model Tube &  Part no.
Special fitting
WEDZ 6522-3-M3 3mm 226-10412-4
Standard design
WEDZ 6522-4-M3 4mm 226-10412-5
WEDZ 6522-4-M5 4mm 226-13776-7
WEDZ 6522-4-M6 4mm 226-13776-8
WEDZ 6522-4-M6 x 0.75 4mm 226-10412-6
WEDZ 6522-4-M8 4mm 226-13776-9
WEDZ 6522-6-M6 6 mm 226-10412-2
WEDZ 6522-6-M8 6 mm 226-10412-3
NOTE

Use only for occasional rotary motions;
pivoting angle < 180 °. For other applica-
tions use a straight rotary swivel, 90° or a

similar fitting.
6001a02

Model Part no.

Standard design

SWVZ 6-1/8 504-36893-1
Model Tube @ Part no.
TSV 6540-6-S02 226-14097-4"

) Dimensions see Fig. 27-12

NOTE

Use only for combining two lubricant quan-
tities, either from the main metering device
to a secondary metering device or back to

600102 the pump. Designed for high-pressure
hose (D 8.6 x 2.3 mm) with hose stud and
groove.

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Bulkhead fitting

6059b03

2.0EN-20001-J10

Female

Quicklinc Connecting Elements, Push-in Type, continuation

Fig. 15-11 Bulkhead fitting

Model thread Part no.
Standard design

SV 6590-6-S05 M8 x1 226-10214-2
SV 6590-6-S03 G 1/8 226-10214-3
Reinforced collar

SVV 6590-6-S04 G 1/8 226-10214-4

6001a02

Zerk-Lock fitting for lubrication fitting connection

4443a02

Fig. 15-12 Zerk-Lock fitting for the direct connection between pres-

sure plastic tube and lubrication fitting

Drop

6848b07

Fig. 15-13 Drop 6800

Designation

Zerk-Lock fitting

Consisting of:

NOTE

In combination with a hydraulic lubrication
fitting, all variants can also be used as a
lubrication fitting block (see Fig. 23-4).

Tube @

6 mm

Zerk-Lock adapter
GEK C6510-6 '/s NPTF-D99

Designation

Drop 6800 34
Drop 6800 4-6
Drop 6800 4-8

Tube -&

3mm
4 mm
4 mm

Tube -@&

4 mm
6 mm
8 mm

Part no.

532-32385-1

270784
226-14111-6

Part no.

226-10417-3
226-10417-2
226-10417-1

Page 59 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Quicklinc Connecting Elements, Push-in Type
T-Piece
Model Part no.
TS 6540-6-S01 226-14097-2 "
TS 6540-8 226-14097-3

) Dimensions see Fig. 27-12

NOTE

Use only for combining two lubricant quan-
tities. Designed for pressure plastic tube
(D 6 x 1.5 mm) for the connection from a

600102 secondary metering device to a lubrication
point.

1117296

Fig. 15-14 T-piece

Line connector

Model Part no.

Standard design
GS 6580-4 226-1377 3-1
For pressure plastictube @ 4x 1 mm

GS 6580-6-S01 226-13773-3
For pressure plastic tube @ 6 x 1.5 mm

Reinforced design

GSV 6580-6-S02 226-137734
For high-pressure hose (& 8.6 x 2.3 mm), with hose stud
and groove.
1121296
Fig. 15-15 Line connector
NOTE

To be used for the repair of high-pressure
hose and pressure plastic tube.

6001a02

Line connector

Model Part no.

D6 x 1.5 x40 mm 432-24280-1
For high-pressure hose (& 8.6 x 2.3 mm), with hose stud
and groove.

NOTE

Use in conjunction with T-piece
226-14097-4.

10002703 6001a02

Fig. 15-16 Line connector

Page 60 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Quicklub Accessories

Protective cap for push-in type fittings

00002630

Fig. 16-1 Protective cap for push-in type fittings

Closure plug

10002707

Fig. 16-2 Closure plug

Assortment case

1144b07

Fig. 16-3 Assortment case

Part no.
432-24313-1
NOTE
For the protection against humidity and
dirt.
6001a02
<& (mm) Part no.
D6 226-13797-3
NOTE
For closing the retum line connection on
the pump.
6001a02
Designation Part no.
Assortment case Quicklub 604-28196-1

NOTE

For the completion or repair of Quicklub-
progressive systems.

6001a02

Page 61 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . 2.0EN-20001-J10
Lines and Accessories

Pressure plastic tube, filled with grease

Outer O x Side

Designation thickness in mm Part no.
Pressure plastic tube 4 x 1 504-36061-7
Pressure plastic tube 6 x 1.5 504-36041-2
Max. operating pressure ...........cccoooeeeeerieeiee e e 89 bar
Bursting pressure at20°C ................co approx. 210 bar
Min. bending radius ...............cooi i . 50 mm
Roller, max. length.. ... e 100 m
Greasefilling ... Fuchs FWA 120
1145296
Fig. 17-1 Pressure plastic tube
Pressure plastic tube, without grease filling
Designation O‘_’te' ) x_Side Part no.
thickness in mm
Pressure plastic tube 4 x 1 112-35127-7
Bursting pressure at20°C..............ccooc approx. 210 bar
Min. bending radius. ............cc.coooiii i e 50 mm

NOTE

Do not use pressure plastic tube
(D 4 x 1 mm) fordispensing grease in the
case of applications in commercial vehi-

6001a02 cles.
Designation O‘_’te' ) x_Side Part no.
thickness in mm
Pressure plastic tube 6 x 1.5 112-35127-2
Bursting pressure at20°C ...............cco approx. 210 bar
Min. bending radius ..............coooii i, . 50 mm
Steel tube
Design O‘_’te' ax _Side Part no.
thickness in mm
Standard 6x1 105-35019-1
8x 1 105-35251-3
Galvanized 6x1 105-35025-2
8x 1 105-35025-3
High-grade steel 6x1 106-35064-4
1.4541
8x 1 106-3506 3-1
High-grade steel 6x 1 106-352034
1.4571
8x 1 106-35203-3
10002713
Fig. 17-2 Steel tube High-grade steel 6x1 106-35231-1
Lenath 3 1.4301
ENGEN o e m 10 x 1 106-35231-3
Page 62 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Lines and Accessories, continuation

High-pressure hose KF300, filled with grease

1145296

Fig. 17-3 High-pressure hose KF300 or KF 400

Inner @ x Side

Designation Thickness in mm Part no.

High-pressure hose 4.1x 2.3

KF300, running m 504-36033-3

KF300,25m 504-36723-9

KF300, 50 m 504-34400-3
Max. operating pressure ..........ooocveeeeeeceeie e e 350 bar

Min. bursting pressure (with hose coupling, screwed)

AL 20 °Ct e e e e e e 600 bar
Temperaturerange. ........c...cccceveeeeveeeee .. -40°Cto+70°C
Min. bendingradius ............c.coooo i 35 mm
Roller, max.length ..o e, 50 m

Grease filling Fuchs Renocal 745

High-pressure hose KF300, without grease filling

Inner @ x Side

Designation Thickness in mm Part no.

High-pressure hose

KF300, running m 41x23 111-35114-1
Max. operating Pressure ..........ooocveeeeeeceee e e 350 bar

Min. bursting pressure (with hose coupling, screwed)

High-pressure hose KF400, without grease filling

At 20 °C e e e e e e 600 bar
Temperature range. ........c...ccccoveeeeceieeee e -40 °Cto+70°C
Min. bendingradius ...........c.c.cooi i 35 mm
Roller, max. length...........coooo i e e 50 m
: : Inner & x Side
Designation Thickness in mm Part no.
High-pressure hose 6 x2.5 111-35301-4
KF400
Max. operating presSsure ..........ooocveeeeeeceeie e e 350 bar

Min. bursting pressure at 20 °C approx. 840 bar
Temperature range. ........c...ccccoveeeeveieeee e -40 °Cto+70°C

Min. bending radius ............c.coooo i 45 mm
Roller, max.length..........cccoooo i e, 50 m
Page 63 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . . 2.0EN-20001-J10
Lines and Accessories, continuation

Press-fit hose couplings (for hydraulic pressing only)
For high-pressure hose KF300

Item Designation Stud o NW Part no.
1 Compression sleeve 4 mm 432-23787-1
2 Hose stud, straight
F 6 mm 4 mm 432-23781-1
VA 6 mm 4 mm 432-23777-1
3 Hosestud 90° 6 mm 4 mm 532-31949-1
K-Quick-050a10 X:short
Hose stud 90° 6 mm 4 mm 532-32425-1
Fig. 17-4 Hydraulic press-fit hose couplings for KF 300 X: long
Pressdimension .................................... ......... oniinquiry
For high-pressure hose KF300
Item Designation Thread NW Part no.

4  Compression sleeve DKO L 4 mm 432-70025-1

and LL
5 Hose stud, straight
F DKO L M12x1 4mm 532-32491-1
F DKO LL M10x1 4 mm 532-32492-1
Hose coupling, straight M10 x1 4 mm 532-32456-1
DKO L
6069b03
: 6 Hose stud 90°
Fig. 17-5 DKO L and DKOLL h tud for KF300
9 an ose suater F DKO L M12x1 4mm 532-32301-1
F DKO LL M10x1 4 mm 532-32302-1
Pressdimension ..............................cco oo ... ONNQUiTy
For high-pressure hose KF400
. . Outer
Item Designation Thread tube & NW Part no.
7  Compression sleeve DKO L 6 mm 226-10087-7
8 Hose stud, straight
DKO L M12x 15 6mm 6 mm 226-10087-2
DKO L M14x15 8mm 6mm 226-10087-3
DKO L M16x 1.5 10 mm 6 mm 226-10087-4
Hose stud 90°
9 DKOL M12x15 6mm 6 mm 226-10087-5
DKO L M14x15 8mm 6 mm 226-10087-6
DKO L M16x 15 10 mm 6 mm 226-10087-8
Pressdimension .................................... ......... oninquiry
6082b 03

Fig. 17-6 DKO L hose stud for KF400
Page 64 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Lines and Accessories, continuation

Threaded sleeve and hose stud
For high-pressure hose KF300

4461a02

2.0EN-20001-J10

Fig. 17-7 Threaded sleeve and hose stud for high-pressure hose
KF300

(For manual pressing only)

6060b03

Fig. 17-8 Manual press-fit hose couplings

Tube clamp with rubber lining

1146a96

Fig. 17-9 Tube clamp with rubber lining

Item Designation Stud O NW Part no.

Standard design

1  Threaded sleeve 432-23031-1

2 Hose stud, straight 6mm 4 mm 432-24162-1
21.5 mm (short)
Hose stud, straight 6mm 4 mm 432-23067-1
30 mm (long)

3  Hose stud, 6mm 4 mm 532-32183-1
45° (short)

4  Hose stud, 6mm 4 mm 532-30739-1
90° (short)
Hose stud, 6mm 4 mm 532-30738-1
90° (long)

High-grade steel

1  Threaded sleeve 432-23676-1

2 Hose stud, short 6 mm 4 mm 432-236751

Item Designation Studg NW Part no.

1  Compression sleeve F 4 & 6 mm 226-12490-1
Hose stud F 4mm 4mm 432-217854

2 Hose stud F long 6mm 4mm 432-22488-2
Hose stud F short 6mm 4mm 432-22539-1
Hose stud F 6mm 5mm 432-22966-1
Hose stud F for Quick- 6mm 4 mm 432-217864
linc90°

Tube @ in mm Fixing borehole in mm Part no.

6 55 226-12557-1

9 55 226-12557-2

10 55 226-12557-7

12 55 226-12557-3

15 55 226-125574

20 55 226-125576

Page 65 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . . 2.0EN-20001-J10
Lines and Accessories, continuation

Fixing parts for tube clamp

Item  Designation Dimension Part no.

1 Pan head screw AMS5 x16 C 201-12040-7
Hexagon headscrew M 5x45C 200-13017-5

2 Self-tapping screw EM5x16Z 206-13710-1
M 5x 10 206-12124-5
CM5x40Z 206-13710-2

3 Nut M5C 207-12138-2
4 Tooth-ock washer J53Z 210-12161-9
5 Blind rivet D4x12 206-12584-1

1147296

Fig. 17-10 Fixing parts for tube clamp

Tube clamp
Width 15 mm, material thickness 2 mm, bore @ 7 mm
Number of tube s Tube & Part no.
1 6 mm 226-12335-7
1 8 mm 226-12337-1
1068296 2 8 mm 226-12337-2
- 3 8 mm 226-12337-3
Fig. 17-11 Tube clamp 4 8 mm 526-12337-4
5 8 mm 226-123375
6 8 mm 226-12337-6
Self-tapping screw
Designation Thread Part no.
galvanized M4x8 206-12123-3
galvanized BM®6 x 12 206-12125-3
Tube clamp (high-grade steel 1.4571)
Number of tube s Tube @ Part no.
1 6 mm 226-13716-1
2 6 mm 226-13716-2
3 6 mm 226-13716-3
4 6 mm 226-13716-4
5 6 mm 226-13716-5
1 8 mm 226-13717-1
2 8 mm 226-13717-2
3 8 mm 226-13717-3
4 8 mm 226-137174

Page 66 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . . 2.0EN-20001-J10
Lines and Accessories, continuation

Plastic helix

@ inmm Length” Part no.
6 10m 113-35075-2
12 25m 113-35075-3

The plastic helix serves to bundle several tubes together. It
also protects the tube lines from wearing through.

) available for order per meter

1148a96

Fig. 17-12 Plastic helix

Spring coil

Dimensions in mm Part no.

High-grade steel 1.4310

DI 9 x1.2 x5000 111-35306-1
DI 17 x 1.8 x 5000 111-35306-2
DI6.1x1.2x 5000 111-35306-3

The spring coil serves as a protection against the wearing
through of hose lines.

6061b03

Fig. 17-13 Spring coil

Hose strap
Designation Part no.
short 186 x 4.8 mm 226-12490-3
long 360x 4.8 mm 226-13095-1
1149296
Fig. 17-14 Hose strap
Page 67 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

2.0EN-20001-J10

Lines and Accessories, continuation

Adhesive clamp

1150296

Fig. 17-15 Adhesive clamp

Spacer

1151296

Fig. 17-16 Spacer

Cable sleeves

1152a96

Fig. 17-17 Cable sleeves

Subject to modification

Page 68 of 112

Dimensions Part no.

28 x 28 mm 226-13095-6
Part no.
432-23774-1

Forthe attachment of pressure plastic tubes (& 6x1.5 mm) to
existing tube lines. Attach the pressure plastic hoses and the
spacer by means of a hose strap.

Material .............cccoco o CR (Clorophene caoutchouc)
For tube & Part no.
6 237-13375-1
9 237-13375-2
15 237-13375-3

Used for the connection on frames, etc.

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Push-in type coupling without return line (cannot be coupled under pressure)

1127a96

Fig. 17-18 Push-in type coupling without return line (cannot be cou-

pled under pressure)

Item

A WON-

Lines and Accessories, continuation

Designation

Coupling assy

Consisting of:

GE 6-LG1/4 AC

Coupling with dust protection
Copper washer 14x 18 x 1.5
Nipple with dust protection

IMPORTANT NOTE

2.0EN-20001-J10

Part no.

504-36804-5

223-12477-8
504-3212541
209-121586
251-1407 31

Ifthe system is put into operation although
tems 2 and 4 are separated, the coupling
(item 2) must be connected to the pump

6001202 via a retum line.

Screw-type coupling without return line (can be coupled under pressure)

10002712

Fig. 17-19 Screw-type coupling without return line (can be coupled

under pressure)

Item

N

Designation

Coupling assy

Consisting of:

GE 6-LG1/4 AC

Nipple with dust protection
Coupling with dust protection
Copper washer 14x 18 x 1,5

IMPORTANT NOTE

Part no.

504-36804-6

223-12477-8
251-140734
226-13728-2
209-121586

Ifthe system is put into operation although
tems 2 and 3 are separated, the coupling
(item 3) must be connected to the pump

6001a02 via a retum line.

Page 69 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Accessories for Central Lubrication Pump Models 203

Pump elements

1122a96

with fixed lubricant output

Piston

Type o

K5 5mm
K6 6mm
K7 7mm
C7 7mm
287 7mm

Male Lubricant
thread output
M22x 1.5 2.0 cm¥min
M22x 1.5 2.8 cm¥min
M22x 1.5 4.0 cm¥min
M22x 1.5 4.0 cm¥min
M22x 1.5 4.0 cm¥min

Female

thread
G W
G W
G W
G W
G W

Part no.

600-26875-2
600-26876-2
600-26877-2
600-28750-1
600-29110-1

Fig. 18-1 Pump elements with fixed lubricant output

6251b04

Fig. 18-2 Pump elements with fixed lubricant output and bypass
check valve

4158a98

Fig. 18-3 Pump elements with adjustable lubricant output

1114a96

Fig. 18-4 Return-line connector with filler fitting
Page 70 of 112

" Pump element for supplying of chisel paste
2 Pump element suitable with grease based on silicon oil

The 203 pumps, which are designed for use on commercial
vehicles, are equipped with one pump element K6. Forin-
dustrial applications, select the pump elements according to
the above-mentioned table.

Each pump element must be secured with a safety valve. See
under Pressure relief valves (see Fig. 19-1 ff).

For application in the beverage industry %

Tvbe Piston Male Lubricant Female Part no
yp (7] thread output thread .
K56 5mm M22x 1.5 20cm¥min G % 600-29303-1
K6 6mm M22x 1.5 28 cm¥min G % 600-29304-1
K7 7mm M22x 1.5 4.0 cm¥min G % 600-29305-1

with bypass check valve %

T Piston Male Lubricant Female Part
ype 5 thread output thread arinoy
B7 7mm M22x 1.5 2.0cm¥min G % 600-29185-1

%) chemical, galvanized pump elements
with adjustable lubricant output

Tvbe Piston Male Lubricant Female Part no
yp (7] thread output thread .
KR 7mm M22x15 0,7-3,0 GV 655-28716-1

cm3/min

Each pump element must be secured with a safety valve.
See under Pressure relief valves (see Fig. 19-1 ff).

Return-line connector with filler fitting

Designation Part no.
Return-line connector for pump with 2 | reser- 504-30698-1
voir

Return-line connector with adapter and 504-36071-5
straight filler fitting for pump with 2| flat-type

reservoir, 4 I-and 8 |-reservoir

Return-line connector with adapter and 90° 504-36071-6

filler fitting

The return-line connector with filler fitting is designed to feed
grease quantities that are not required back into the pump. It
is installed instead of a normal filler fitting.

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Accessories for Central Lubrication Pump Model 203, cont.

Return-line connector, push-in type or screw type

10002706

Fig. 18-5 Return-line connector, push-in type or screw type

The return-line connection is designed to feed grease quanti-
ties that are not required back into the pump. Itis installed
instead of a closure plug (pump element).

Quick filling connection, pump 203 with filter

K-Quick-010a08

Fig. 18-6 Quick filling connection, pump 203 with filter

Designation

Return-line connector, push-in
type

AdapterM22 x 1.5a x G1/8 i
WEDK 6520-6-1/8-S01

Closure plug D6

Return-line connector, screw
type

Adapter M22 x 1.5a und G 1/8i
WE 6-LLR1/8 KC "

AdapterM22x 1.5 xR 1/41IC
GE6-LG1/4AC "
Dowel pin

“NOTE

2.0EN-20001-J10

Part no.

304-19619-1
226-13756-8
226-13797-3

304-19619-1
223-12485-9

304-17571-1
223-12477-8
215-12194-4

Other fittings with 1/8” thread may be used

on request.

6001a02

Designation

1 Filler fitting with coupling plug
and filter, assy. (pos. 2 & 3)

2 Coupling plug with protective
cap

3 Filler fitting without coupling
plug; with filter

3a Fillerfitting without coupling
plug; without filter

Thread

M22 x1.5

M22 x 1.5

Part no.

540-36753-5

504-321251

540-31800-1

504-36071-7

Fora quicker filing with a hand-operated or pneumatic pump.

Quick filling connection, pump 203 without filter

4166b06

Fig. 18-7 Quick filling connection, pump 203 without filter

Designation

Filler fitting without coupling plug
with protective cap

Coupling plug with protective cap
Protective cap

Thread

G¥ "

Part no.

544-36961-1

504-32125-1
233-10765-3

Fora quicker filing with a hand-operated or pneumatic pump.

" Connecting bore for filler fitting
2 Protection cap for replacement

Page 71 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Identification Code — Pressure Relief Valves
Code examples
sV - 200 R¥sA
sv. - TE - 350 - R%A - D6
sV - EVI - 350 - G%“A - D8
sV - EVI - 350 - M14x1.5i - D6
sV - S - 30 - 6 Ya 6
Basic type |
SV = Pressure relief valve |
Design of the pressure relief valve |
TE =with TE fitting
EVT =with EVT stud
S = cross-chaped fitting |
Max. pressure I
in bar (fixed setting) |
Connection for grease return I
Type of connection (pump element)
R 1/4 A = male thread R 1/4 conical
G 1/4 A = male thread G 1/4 cylindrical
M 14 x 1.5i =female thread M 14 x 1.5
Type of connection (main line)
D 6 = cutting ring fitting for tube D 6
D 8 = cutting ring fitting for tube D 8
6 = push-in type fitting for hose stud D 6
Pressure Relief Valves
Pressure relief valve, screw type
Design Part no.
SVTE-350-1/4 -D 6 624-28894-1
SVTE - 350 - 1/4-D 6, 624-28896-1
Emergency lubrication fitting, left-hand
SVTE - 350 - 1/4-D 6, 624-28897-1
Emergency lubrication fitting, right-hand
SVTE-350-1/4-D 8 624-28895-1
SVTE-270-1/4 -D 6 624-28892-1
SVTE-270-1/4-D 8 624-28893-1
SVTE-200-1/4 -D 6 624-28891-1
Adapter for 2 | flat-type reservoir, 41, 81 226-14105-5

4240a99

Fig. 19-1 Pressure relief valve, screw type

6519b05

Fig. 19-2 Cutting ring and coupling nut

Page 72 of 112

reservoir, nipple S2520-1/4 - 1/4- 25

Cutting ring and coupling nut

Design

Coupling nut, STM 6-SC
Cutting ring, ST D 6-L/S

Select an adequate pressure relief valve for the respective
pump element.

Part no.

223-13032-2
223-12295-3

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Pressure relief valve, push-in type

Pressure Relief Valves, continuation

4241299

Fig. 19-3 Pressure relief valve, push-in type

2.0EN-20001-J10

Item Design Part no.

1 SVTS-350- 1/4-6 624-28860-1"

1 SVTS-200- 1/4 -6 624-28861-1
SVTS-350- 1/4 -6, 624-28858-1
Emergency lubrication fitting, right-
hand

2 SVTS-350- 1/4 -6, 624-28867-1
Emergency lubrication fitting, left-hand

3 SVTS-270-1/4 - 1/8NPTFI, 624-28859-1
Emergency lubrication fitting, right-
hand
Adapter for 2| flat-type reservoir, 4 |,  226-14105-5

8 | reservoir, nipple S2520-1/4-1/4-25

Y Dimensions see Fig. 27-13

Select an adequate pressure relief valve for the respective

pump element.

Kit : Pressure relief valve assembly with grease return to the reservoir

6063b03

Fig. 19-4 Kit: Pressure relief valve assembly with grease return to

the reservoir

Design

SVS-350-6-1/4-6
SVS-200-6-1/4-6

Retrofit Kit: Pressure relief valve with grease return to the reservoir

A

6062b03

B

6066b03

Fig. 19-5 Retrofit Kit: Pressure relief valve with grease return to the

reservoir

A Parts of the retrofit kit
B Existing parts

Part no.

624-28931-1
624-29087-1

Part no.

524-322311

Page 73 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . 2.0EN-20001-J10
Pressure Relief Valves, continuation

Valve inserts for new pressure relief valves

Design Part no.
Valve insert, SV 250 bar 235-14343-7
Valve insert, SV 350 bar 235-14343-3
Valveinsert, SV 270 bar 235-14343-2
Valve insert, SV 200 bar 235-14343-1
Valve insert, SV 120 bar 235-14343-5
Valveinsert, SV 80 bar 235-14343-4
4195299 NOTE
Fig. 19-6 Valve inserts for new pressure relief valves The valve inserts are provided with a pres-

sure indication (e.g. 350) on the hexagon
surface (top).

6001a02

Pressure gauge

Design Part no.

Pressure gauge 0 - 400 bar 624-29426-1
with valve SVKSV-350-1/4-D6

6520b05

Fig. 19-7 Pressure gauge with connecting fitting

Brackets

For fixing Part no.

Pump 203 CS, universal and main metering
device
Bracket " 307-19544-1

4165a98

Fig. 19-8 Bracket

Page 74 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

Pressure Relief Valves, continuation

device

4162a98

Fig. 19-9 Bracket

Electrical Accessories for

For fixing

Brackets, continuation

Only for pump 203 and main metering

) Dimensions see Fig. 28-1

Central Lubrication Pump Model 203 without Control

PSG control unit

Voltage

24 VvDC

24 VvDC

1119296

Fig. 20-1 PSG control unit

lHluminated pushbutton

Voltage

12V
24V
12V
24V

1156296

Fig. 20-2 llluminated pushbutton

Time setting

Pause time : 6 Std.
Lubricating time : 2 Min.
Pause time : 4 Std.

Lubricating time : 4 Min.

Lamp

green
green
red?
red?

2.0EN-20001-J10

Part no.

307-19644-1 "

Part no.

236-13834-1

664-36875-1

Part no.

664-36070-5
664-36070-6
664-34005-5
664-34005-6

2 only for fault indication of pumps 223/233

Page 75 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

. . . . 2.0EN-20001-J10
Electrical Accessories, continuation

for Central Lubrication Pump Model 203 without Control

Illuminated pushbutton, continuation

Subject to modification

Voltage Lamp Part no.
24 V green 236-10280-6
6521b05
Fig. 20-3 llluminated pushbutton
Fuse holder with fuse
Strength of current Part no.
5A 237-13321-8
8A 237-13426-1
10 A 237-13426-7
1157296
Fig. 20-4 Fuse holder with fuse IMPORTANT

The fuse holder with fuse must always be

connected upstream of each control unit

to protect the control unit against short-
6001a02 circuits.

for Metering Device Model SSV

Piston detector (proximity switch, 2-wire)

Designation Length Thread Part no.

Piston detector for monitoring of
SSV metering devices with FLRYY

Cable without AMP plug 3 m M11x1 519-34271-2

Cable without 5m M11x1 519-34271-4
AMP plug (PU)

Cable with AMP plug 3m M11x1 519-34271-7

Cable with AMP plug 7m M11x1 519-34271-8

1126296

Fig. 21-1 Piston detector (proximity switch, 2-wire) in high-grade steel (V4A) with

NOTE Cable without AMP plug 2m M11x1 519-34339-1

The piston detector (proximity switch) is
not part of the metering device.
6001a02

Page 76 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Electrical Accessories, continuation
for Metering Device Model SSV

Extension cable for piston detector (only as spare part)

00002624

Fig. 21-2 Extension cable for piston detector

Design Length

Cable assembly with AMP plug 4m
and socket outlet

Connecting cable for two piston detectors (only as spare part)

00002625

Fig. 21-3 Connecting cable for two piston detectors

Detector cable (only as spare part)

4164a98

Fig. 21-4 Detector cable

Design Length

AMP cable assembly with two 0.6 m
socket outlets

Design Length

AMP detector cable 10m

NOTE
For longer distances.

6001a02

2.0EN-20001-J10

Part no.

664-36862-9

Part no.

664-36889-6

Part no.

664-36884-7

Page 77 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Electrical Accessories, continuation
for Metering Device Model SSV

Piston detector (proximity switch, 3-wire) for industrial applications, high-grade steel (1.4571)

4310a01

Fig. 21-5 Piston detector (proximity switch, 3-wire) for industrial
applications, high-grade steel (1.4571)

Designation Length Thread Part no.
Piston detector” for moni- M11x1 519-34339-5
toring of the SSV metering

devices with integrated plug

without cable

Accessories

Angular socket M12 237-13442-4
90° angular socket with cable 5m M12 237-13442-6
Straight socket with cable 10m M12 236-10022-7

"NOTE

A use in combination with pump 203 and
microprocessor control is not possible.

600 1a02

Piston detector (proximity switch, 2-wire) for pumps 203, 223/233

6064b03

Fig. 21-6 Piston detector (proximity switch, 2-wire) for pumps 203,
223/233

Connecting cable for two piston detectors

6522b05

Fig. 21-7 Connecting cable for 2 piston detectors with bayonet plug

Page 78 of 112

Designation Length Thread Part no.

Piston detector for monitoring of the SSV metering devices
cable with bayonet plug 3 m M 11 x1 519-34339-3
cable with bayonet plug 7 m M 11 x1 519-34339-4

Design Length  Part no.

bayonet plug, assy. 0.6 m 664-34195-6

for two piston detectors

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



on

Subject to modificat

User Information
Parts Catalog

Electrical Accessories, continuation

for Metering Device Model SSV

Detector cable

Design

4164b05

Fig. 21-8 Connecting cable for piston detector with bayonet plug

Limit switch (KS), as spare part only

Design

Limit switch V3S + VL1

10002722

Fig. 219 Limit switch (KS), as spare part only

Proximity switch (KN), as spare part only

Design

Bl 2-G12K-AP6X
Bl 2-G12K-AN6X

Adapter with stop ring

10002723

Fig. 21-10 Proximity switch (KN), as spare part only

Bayonet detector cable

Length

10 m

Limit switch with accessories

Switching mode

PNP
NPN

2.0EN-20001-J10

Part no.

664-34167-9

Part no.

519-36713-7
236-13281-2

Part no.

234-13134-3
234-13134-5

519-30911-1

Page 79 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Accessories for SSV Metering Devices

Mounting angle

For fixing of

SSV metering device

) Dimensions see Fig. 29-2

10002721

Fig. 22-1 Mounting angle

Bracket

For fixing of

SSV metering device

%) Dimensions see Fig. 29-1

10002720

Fig. 22-2 Bracket

Page 80 of 112

2.0EN-20001-J10

Part no.

432-23982-1 "

Part no.

307-19543-1 2

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Accessories for Manually Operated Systems

Lubrication fitting blocks, screw type

112996

Fig. 23-1 Lubrication fitting block, lubrication fitting without check
valve

1129296

Fig. 23-2 Lubrication fitting block, lubrication fitting with check valve

1130a96

Fig. 23-3 Lubrication fitting block for 1-3 connections without check
valve

6068b03

Fig. 23-4 Lubrication fitting block for 1-2 connections,
variable connecting possibilities

No. of lubrication fittings

1 without check valve

Thread Part no.

R 1/8 female 532-32248-1

|f the metering device is installed at a place of difficult access
for the lubrication, the lubrication points can be made acces-
sible by means of lubrication fitting blocks or tube filters.

No. of lubrication fittings

1 with check valve

No. of lubrication fittings

3 without check valve
2 without check valve

No. of lubrication fittings

2

Consisting of:
Lubrication fitting block

Hydraulic lubrication fitting + RV ST AR 1/8

Closure plug 5.8 G1/8A C

Thread Part no.

R 1/8 female 504-37184-2

Thread Part no.

R 1/8 female 504-37211-1
R 1/8 female 504-37210-1

Thread Part no.

R 1/8 female 532-32454-1

432-70024-1
251-14109-6
203-12074-1

Page 81 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . 2.0EN-20001-J10
Accessories for Manually Operated Systems, continuation

Lubrication fitting block, push-in type

Part no.

532-32131-1

L ubrication fitting with check valve
Connection for high-pressure plastic hose with hose stud and
threaded sleeve.

4459a02

Fig. 23-5 Lubrication fitting block, push-in type

Tube filter

Designation Thread Part no.

SF1-G1/4 +lubrication fitting G 1/4 female 628-36062-3

The tube filter is an additional protection in application areas
where there is a strong contamination (e.g. erection sites,

etc.)
Lubricant filter SF1-G1/4 628-26452-2
Coarse strainer, transmissibility 410/1000 428-21544-1
Lubrication fitting 532-31537-3
00002942
Fig. 23-6 Tube filter
Filter block
Designation Outlet . Part no.
connection
Lubricant filter unit with hy- G1/4A 528-36045-6
draulic lubrication fitting
Lubricant filter unit with elbow G 1/4 A 528-36876-2
fitting and hydraulic lubrication
fitting

The filter block is an additional protection in application areas
where there is a strong contamination (e.g. erection sites,
etc.).

4469a 02

Fig. 23-7 Filter block

Page 82 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



User Information

Subject to modification

Parts Catalog
2.0EN-20001-J10
Tools
1133296 1136296
Fig. 24-1 Special screwdriver for closure plugs on Part no.: Fig. 24-2 Assembly stud for hose coupling Partno.:
SSV metering devices 404-22614-1 432-23077-1
1134296 1137296
Fig. 24-3 Special cutter for plastic tube 22';31”228-5 5 Fig. 24-4 Blind rivet hand tool Partno.:
i i Blind rivet tool 226-12508-6 ")
Spare blade 226-13095-7 Compression sleeve @ 9 mm 226-12490-1
Hose fitting tool for compression sleeve 226-12490-2
Hose stud @ 6 x 34 mm 432-22539-1
Hose stud @ 6 x 46 mm 432-22488-2
Y for blind rivet @ 4 x 12 mm, see pos. 5 (Fig. 17-10)
1106296 1116296
Fig. 24-5 Set for checking pressure and function: Fig. 24-6 Special tool forloosening the push-in Part no.:
i.a.other hand-lever press 1142, Part no.: type fittings 532-31847-1
pressure gage D63 0-600 bar and fit- 604-36879-1
ting
Page 83 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Tools, continuation
00002621
Fig. 247 Assembly tool for adapter ring, 4- and 8 Part no.:
L reservoirs 544-32017-1
00002622 000026 23
Fig. 24-8 Assembly tool for 2 L reservoir Partno.: Fig. 24-9 Assembly tool for 2 L flat-type reservoir, Part no..
544-32019-1 4-and 8 L reservoir 544-32018-1
Filling Pumps
for Cartridge Filling (400 ccm Cartridge)
Kit: Filling pump with straight connection fitting, 2L reservoir (standard)
Pos. Description Part no.
1 Pump incl. connecting parts, assy. 638-37549-1
2  Filling connection, straight 538-36763-1
3 Protective cap, fitting M26x 1,5 233-13090-9
4 Protective plug, pump 233-13124-8

6850007

Fig. 25-1 Kit: Filling pump with straight connecting fitting

Page 84 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

Filling Pumps, continuation
for Cartridge Filling (400 ccm Cartridge)

Kit: Filling pump with 90° connection fitting, 2 L reservoir

6849b07

Fig. 25-2 Kit: Filling pump with 90° connection fitting, 2L reservoir

Pos. Description

2.0EN-20001-J10

1 Pump incl. connecting parts, assy.
2

Filling connection, 90°
incl. protection cap
3 Protective cap, fitting
4  Protective plug, pump

Kit: Filling pump with straight connection fitting, 2 L flat-type reservoir

6851b07

Fig. 25-3 Kit: Filling pump with straight connection fitting, 2L flat-type
reservoir

Kit: Filling pump with 90° connetion fitting (2 L flat-type, 4 L, 8 L reservoir)

6853b07

Fig. 25-4 Kit: Filling pump with 90° connection fitting (2L flat-type,
41,8 L reservoir)

Pos. Description

M26x 1.5
M26x 1.5

1 Pump incl. connecting parts, assy.
2

Filling connection, straight
incl. protection cap
Protective cap, fitting
Protective plug, pump

AW

Pos. Description

M26x 1.5
M26x 1.5

1 Pump incl. connecting parts, assy.
2

Filling connection, 90°
incl. protection cap
3 Protective cap, fitting
4  Protective plug, pump

M26x 1.5
M26x 1.5

Part no.

638-37548-1
538-36763-2

233-13090-9
233-13124-8

Part no.

638-37549-2
538-36763-5

233-13090-9
233-13124-8

Part no.

638-37561-1
538-36763-4

233-13090-9
233-13124-8

Page 85 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Filling Pumps, Accessories
for Cartridge Filling (400 ccm Cartridge)

Filling pump without connecting parts

00002972

Fig. 25-5 Filling pump without connecting parts

6838b07

Fig. 25-6 Filling pump without connecting parts

Lever gun

1118a96

Fig. 25-7 Lever gun

Holding clamp

6852b 07

Fig. 25-8 Holding clamp

Page 86 of 112

Part no.

... incl. protective plug M26x 1.5 244-14161-1

Part no.

244-14161-2

Part no.

001142

Part no.

00G160

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



User Information
Parts Catalog

2.0EN-20001-J10

Pump, Hand-Operated, for Greases up to NLGI Grade 2

Subject to modification

Drum weight Stationary Mobile Part no.
15 kg X 244-14125-1
18 kg X 244-14125-7
50 kg X 244-14125-3
15 kg X 244-14126-1
25 kg X 244-14126-2
50 kg X 244-14126-3
Reservoir @for25Kg......ccoooiiiiiiiiiiii e 311 -330 mm
Reservoir @ford50Kg......coooviiiiii i 365 - 385 mm
Outputvolume ..., approx. 45 cm3/stroke
SUPPlY Pressure ............cocoeieiiiiiei e e approx. 30 bar
NOTE
The filling is effected via a hydraulic cou-
pling. Forthe coupling counterpart to use
(see Fig. 18-6 + 18-7).
600 1a02
Accessories for the filling of the lubrication fittings
1 X mouth piece 251-101244
1 x reducing nipple R1/4 xR1/8 Z 222-12258-2
1166296 1 x filler fitting 251-14073-1
Fig. 26-1 Pump, hand-operated, for greases up to NLGI grade 2 1 x sealingring 226-13780-2
(50 kg) or reducing nipple 226-14105-9
Drilling Templates
Designation Part no.
Central IUbFICation PUMP 20 3 L. e e e e e e e e e e e 810-55150-1
SSV MELEING ABVICES . ..o e e e e e e e e e e e e e 810-55005-3
Operating Instructions
Designation Part no.
Central lubrication pUMP 203 DC ... e e e e e e e e e e e e e 810-55168-1
Control p.c.b. H
23T 38 7= . e e e e e e e e e e e e e e e 810-55170-1
Control p.c.b. V10 —V13
2381 380 ot e e e e e e e e e e e e e e e 810-55171-1
Control p.c.b. M00- M23
238138703 ... e e e e e e e e e e e et e e et et e s 810-55172-1
SSV METEING UEVICE ... oo e e e e e e e e e e e e et e e 810-551741
SSV D MEEINNG UEVICE ... e e e e e e e e e e e et e e e 810-55484-1
Page 87 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . 2.0EN-20001-J10
Dimensions

Dimensions: Pump 203 with 2 litre reservoir (standard)

T-P2032L-050a08

Page 88 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 203 with 2 litre reservoir to be filled from the top

T-P2032L-050d08

Page 89 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 203 with 2 litre flat-type reservoir

T-P2032L-050f08

Page 90 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 203 with 4 litre reservoir to be filled from the top

T-P2034L-050d08

Page 91 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 203 with 8 litre reservoir to be filled from the top

T-P2038L-050d08

Page 92 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 203 with 15 litre reservoir to be filled from the top

T-P20315L-050d08

Page 93 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions, continuation

Dimensions: Pump 223/233 with 2 | reservoir

1166b01

Page 94 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 223/233 with 2 | reservoir with cover to be filled from the top

1167b01

Page 95 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 223/233 with 2 litre flat-type reservoir

1168b01

Page 96 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 223/233 with 4 | reservoir with cover to be filled from the top

1169b04

Page 97 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 223/233 with 8 | reservoir with cover to be filled from the top

1170b04

Page 98 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259




Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Dimensions: Pump 223/233 with 15 | reservoir with cover to be filled from the top

B-P233-040a08

Page 99 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. . . . 2.0EN-20001-J10
Dimensions, continuation

Attaching Boreholes

180
162
Sha— — | o
et
ONET ] %’/ T
AN 1 ] )
Q3| o |
=
|>R/9,5
-
[ i g |
NOTE

Tighten pump models with 2 litre flat-type
reservoir and with reservoirs of 4 litres and
bigger with three fastening screws (see

pt. 9,5).

6001a02

Page 100 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




User Information

Subject to modification

Parts Catalog
2.0EN-20001-J10
Dimensions, continuation
Dimensions
Metering Devices Model SSV 6 to SSV 22 Metering Devices Model SSV M 6 to SSV M 12
. 60 .
20 B 50
20
Bl ENERES —
®» » NN © D
_Y -H4+11 6 4 12 | _ \J -
mh i L e - r-{r—f] 5,5 12 ..+._
¥ = =
B S 1 10— }
[} —— —-1— —H—
1 1} o

1,5 °

I

[ 1

|
”

-

|

1 || -

——

|

_+__3 LINCOLN 4 ||
A

5
e
]

MAD .
MADE H . GEHMANY E IN W. GERMANY

15 115 |

15 i
=
[
-q
[s-]
|
| |
i‘" 11,5 | 11,5 (11,5 |
|
i —
1 |
| [
- ~
N [« ]
| |
) -
|

_{[ 3 LINCOLN 4 |

q . 30 | 3| =
H o= O 5
{_ }sz ‘ { }

G 1/8
- G1/8
2012a95 2012a99
Model SSV Dimensions A in mm Model SSV M Dimensions A in mm

6 60 6 48,5

8 75 8 60

10 90 10 71,5

12 105 12 83

14 120

16 135

18 150

20 165

22 180

Page 101 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Dimensions, continuation

Dimensions
Metering device model SSV D 6 to SSV D 22

2012b05

2.0EN-20001-J10

Page 102 of 112

SSV model Dimensions A in mm
6 70
8 85
10 100
12 115
14 130
16 145
18 160
20 175
22 190

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
Fittings
Male connector
%)
L1 S2 S1 4
4
4
) 4
LD& r 2 6
I L 4 6
) 6
6
_ L _ 8
- > 8
1074a96 8
Fig. 27-1 Male connector 8
1)
Male elbow
s3 S1 @
\ 4
l \ Hr— 4
R || Y 4
o 4
A ) 6
6
| 6
6
G L
8
1075b96 8
8

Fig. 27-2 Male elbow

Banjo connector

1)

AL

i
i

Ly

L1

%]

1076a96

Fig. 27-3 Banjo connector

26
25
25
26

26
28
28
26

23
25
28
25

L1

o 0o 0o 0o

o 0o 0o 0o

L1

o 00 0o 0o o 0o

© =
N

L4

20
20

20
20

S3

12
12

12
12

S1

10
10
12
12

12
12
12
12

14
17
14
19

con. =conical thread

con. =conical thread

S4

14
14

14
14

S2

10
11
11

11
11
11
11

14
17
12
17

S5

14
14

14
14

2.0EN-20001-J10

Thread

M6 x1con.”
M8 x 1 con.

M10 x 1 con.

R 1/8 con.

M6 x1con.”
M8 x 1 con.

M10 x 1 con.

R 1/8 con.

M10x 1 con. "

M12 x 1.5 con.
R 1/8 con.
R 1/4 con.

Thread

M6x1con "
M 8 x 1 con.
M10x 1 con.
R 1/8 con.

M 6x 1 con. "
M 8 x 1 con.
M10x 1 con.
R 1/8 con.

M10x 1 con.”
M12x 1.5 con.

R 1/8 con.

Thread

G1/8 A
M10 x 1

G1/8 A
M10 x 1

Part no.

223-12533-5
223-12271-8
223-13069-1
223-12270-8

223-12533-9
223-13023-1
223-12271-7
223-12270-7

223-13021-1
223-12361-6
223-12270-9
223-13621-6

Part no.

223-12533-6
223-13021-5
223-13069-2
223-13021-4

223-13023-2
223-13023-3
223-13021-3
223-12485-9

223-12362-4

223-12362-8
223-13021-6

Part no.

223-13629-1
223-12480-8

223-12479-9
223-12480-7

Page 103 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information

Parts Catalog
2.0EN-20001-J10
Fittings, continuation
Extensions
L L1 S1 Thread Thread 1 Part no.
L1 S1
16 6 10 M8x1con." M8x1  304-19437-1
18 6 13 R1/8" M10x 1 304-19230-1
4 20 8 14 M12x1 con. M10x 1 712-12724-7
l[ \ _ 17 6 13 M8x 1con. G1/8 304-19167-1
W o 20 6 10 M6Xx1con. M 8x 1 304-19787-1
18 4,5 13 M10x 1 con. M10x 1 304-19509-1
y 16 6 10 M8x 1.25 con. M8 x 1 304-19548-1
L " con. = conical thread
1077a96
Fig. 27-4 Extension
Union
S1 S2 Part no.
/L 52 11 12 223-12482-9
| < |
1 ) 18] o )
© W L &
s —
1078a96
Fig. 27-5 Union
Union tee
S1 S2 S3 Part no.
12 11 12 223-12484-9

1054b07

Fig. 27-6 Union tee

Page 104 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

Fittings, continuation

Male connector, push-in type

S1

L1

1065a96

Fig. 27-7 Male connector, push-in type

Male elbow, push-in type

L2

L1

S1

1056296

Fig. 27-8 Male elbow, push-in type

Male elbow, push-in type, rotatable

L2

1067a96

Fig. 279 Male elbow, push-in type, rotatable

ADDDN

[ONONoNoNe)

L1

21
18
18
19

23.5
23
21
21.5
21.5

S1

10
10
12
12

12
12
12
12
12

Thread

6x 1con. "

M

M 8 x 1 con.
M 10x 1 con.
R 1/8 con.

M 6 x 1 con.
M 8 x 1 con.
M 10x 1 con.
R 1/8 con.

R 1/8 con.

Y con. = conical thread

ADDADN

[ONoNoNeNe)l

L1

20
20
20
20

22
22
22
22
23

16

S1 Thread

10 M6 x1con."”
10 M8 x 1 con.
10 M10x 1 con.
10 R 1/8 con.

10 M6 x 1 con.
10 M8 x 1 con.
10 M10x 1 con.

Y con. = conical thread

Q

DO DMDMDMDN

L1

20
20
20
20
22
22
22
22

S1

21
21
21
21
21
21
21
21

10 R 1/8 con.
10 R 1/8 con.
S2 Thread
10 M10 x 1
10 M8 x1
10 M6 x1
12 R 1/8
10 M8 x1
12 M10x 1
10 M6 x1
10 R 1/8

2.0EN-20001-J10

Part no.

226-13752-3
226-13752-1
226-13752-2
226-13752-4

226-13752-8
226-13752-7
226-13752-6
226-13752-9
226-14111-1

Part no.

226-13753-5
226-13753-1
226-13753-2
226-13753-3

226-13753-7
226-13753-8
226-13753-6
226-13753-4
226-13753-9

Part no.

226-13756-2
226-13756-1
226-13756-6
226-13756-3
226-13756-4
226-13756-5
226-13756-7
226-13756-8

Page 105 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

L . . 2.0EN-20001-J10
Fittings, continuation

Valve body, push-in type

#12,8 Thread Part no.

1T Standard design

| : I o1 M 10 x 1 226-14091-2
1
T
3 | Reinforced collar
| : M 10 x 1 226-14091-4
1
wi |
~ |
| 25,9
M10

1058b96

Fig. 27-10 Valve body, push-in type

Valve body 90° with clamping ring, push-in type

Designation Tube-& Part no.

Reinforced collar
WRWYV 6521-6-M 10 x 1 6 mm 226-14091-8

Standard design

WRYV 6511-6-M 10 x 1 6 mm 226-14091-9
6517b05
Fig. 27-11 Reinforced version for the connection of hose studs
T-piece, push-in type
) L1 L2 Part no.
i 1 23 46 226-14097 -2
= I 23 46 226-14097-4 "
|
& 1— " reinforced
L2
1059296

Fig. 27-12 T-piece, push-in type

Page 106 of 112
LINCOLN GmbH < Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259




Subject to modification

User Information

Parts Catalog
L . . 2.0EN-20001-J10
Fittings, continuation
m Pressure relief valve, push-in type
II Designation Tube-& Part no.
‘ © Pressure relief valve 6 mm 624-28860-1
I L o~
1L B N | BN
[\
|
| S
I
|
e
1
1060296
Fig. 27-13 Pressure reliefvalve, push-in type
Brackets
Pump 203
162
—
. | Y
| e |
_Qi_ﬂig_ Y
| BN |
: |
' gy P
---@A-Q— ------------- L4 Lo
! f' I 89 |
E NS
/A S o i
| \ | ©
i I o
J |
_ _______________J‘r________ _
A y
N f : |
- | . g __|
| i @r) &
o - |
L ' |
EismEIEEEE s EEmEEEEEEIR AN ----!u- ssmsnmamn v '
L 170 >‘ 86
ey
200 >
‘ 4168b98

Fig. 28-1 Bracket for Pump 203, Part no. 307-19644-1

Page 107 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

. 2.0EN-20001-J10
Brackets and Mounting Elbows

Metering Devices

s
22,5205 20z20.2 @
<
D— - ) =
| HJ\ |

I
¢
~J
|
%
2010.2
|

e e e e —

S

(€]

|
1610.5

74122
|

ﬂ
Q
>
P '
[

%
©
_}_ 21 -H-
|
6542 J
Joz/
1071296
Fig. 29-1 Bracket for metering devices, Part no. 307-19543-1
17y é

702

20205

© amE
o %o

25405 20+05

20405

1070a96

Fig. 29-2 Mounting elbows for metering devices, Part no. 432-23982-1

Page 108 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Weights

Pumps 203

The weights mentioned below include the following
”individual weights
Pump kit with one pump element, pressure relief valve,
grease filling (0.75 kg, 1.5 kg)
Packaging (cardboard box)
Fixing parts
Operating instructions

2 L reservoir, standard (0.75 kg)

Pump model 203 without connecting cable .................. 5.4 Kg
Pump model 203 type of connection 1A1 ...................... 6.5Kg
Pump model 203 type of connection 2A1...................... 7.1Kg

4 L reservoir, standard (1.5 kg)

Pump model 203 without connecting cable ................... 8.3 Kg
Pump model 203 type of connection 1A1 ...................... 9.3 Kg
Pump model 203 type of connection 2A1...................... 9.9Kg

8 L reservoir, standard (1.5 kg)

Pump model 203 without connecting cable .................. 8.6 Kg
Pump model 203 type of connection 1A1 ...................... 9.6 Kg
Pump model 203 type of connection 2A1 .................... 10.2Kg

Metering devices

SOV B o 0.8 kg
SOV B 1.0 kg
SSV 10 Lo 1.2kg
SOV 12 e 1.4kg
SSV 14 1.8 kg
SSV 16 o 2.0kg
SSV 18 e 2.2kg
SSV 20 .o 2.4kg
SSV 22 2.6 kg
SSV D B 1.2kg
SSV D 8. 1.5kg
SSV D 10, e 1.7 kg
SSV D 12, 1.9kg
SSV D 14 2.2kg
SSV D 16, 2.5kg
SSV D 18, 2.8kg
SSV D 20, i e 3.1kg
SSV D 22, 3.4 kg

In the case of other pump models, the weights of the compo-
nents must be added to the before mentioned weights.

perpumpelement.............coooiii i +0.2 kg
per pressure reliefvalve................cocoooi i +0.1 kg

10 m connection cable, 5-core

- (MIicroprocessor) 2A4 ... ..oooo i e +1.1 kg

10 m connection cable, 4-core

- (MIicroprocessor) 2A4 .........oooviiie e e +0.4 kg

Connection cable with piston detector00. ..................... +0.1 kg

Reservoir design “Filling from top (only 2 L) R +0.15 kg

2 Lflat-type reservoir. ... e +0.5 kg
NOTE

The 4 L and 8 L reservoirs are equipped in
series with “Filling from top”.

600 1a02

Accessories

Checkvalve assy., screwtype........oooooeeioiiii i .16.2 g
Checkvalve assy., push-intype........cc..c.coooeiieiinn. .189 ¢
Male connectors

S SCIEW YD oo e e e .138 ¢
S PUShANTYPE (e e .106 g
Male elbows

S SCIEW YD e e e e e 2359
S PUShANTYPE (e e e e .16.0 g
Hydraulic lubrication fitting ............cccoocoei il .103 g
Indicator Pin.......o.oe e 15.09
Indicator pin &limit switch ...l 102.0g
Piston detector ... 130.0g
Piston detector, 3-wire.............ccccoiii 30.0¢9

Page 109 of 112

LINCOLN GmbH « Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10
Notes:

Page 110 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 * Fax +49 (6227) 33-259



Subject to modification

User Information
Parts Catalog

2.0EN-20001-J10

Page 111 of 112

LINCOLN GmbH ¢ Postfach 1263 « D-69183 Walldorf « Tel +49 (6227) 33-0 « Fax +49 (6227) 33-259



User Information
Parts Catalog

Lincoln’s Global Distribution and Service
Network - The Bestin Our Industry -

Whatever service is required — selecting a lubricating system, customised system installation or the supply of top quality prod-
ucts —you will always be best advised by the staff of the Lincoln offices, representatives and contract dealers.

Systems dealers

Our systems dealers have the most extensive specialised knowledge in our industry. They plan your installations to suit your
specifications with exactly the combination of Lincoln components that you need. They then build the installations at your op-
eration with experienced technicians or work closely with your personnel to ensure that everything goes smoothly.

All dealers have the complete range of pumps, distributers, monitoring devices and accessories in stock and meet our exacting
demands with their specialised knowledge about products, installations and service. Whenever and wherever you need our
experts, from St. Louis to Singapore, Walldorf and worldwide, Lincoln’s first-class systems dealers are at your service.

Find out where the nearest Lincoln distribution and service office to you is located:

Americas: Lincoln Industrial One Lincoln Way Phone: (+1) 314679 4200
St. Louis, MO 63120-1578 Fax: (+1) 800 424 5359
USA Home: www.lincolnindustrial.com
Europe/Africal Asia: Lincoln GmbH Heinrich-Hertz StraRe 2-8 Phone: (+49) 6227 33-0
69190 Walldorf Fax: (+49) 6227 33-259
Germany E-Mail: lincoln@lincolnindustrial.de
AsialAustralia/Pacific: Lincoln Industrial 3 Tampines Central 1 Phone: (+65) 6588-0188
Corporation # 04-05 Abacus Plaza Fax: (+65) 6588-3438
Singapore 529540 E-Mail: sales@lincolnindustrial.com.sg
DIN EN ISO 9001
by DQS
Reg.-Nr. 799

© Copyright 2010

DIN EN SO 14001
by GUT




	Title
 
	Imprint

	Table of Contents
	Electric Central Lubrication Pump P203 
	Pump 203 DC without control p.c.b.
	Pump P 203 AC without control p.c.b.
	Pump P 203 DC with control p.c.b. V10-V13
	Pump P 203 AC with control p.c.b. V10-V13
	Pump P 203 DC with control p.c.b. M08-M23
	Pump P 203 AC with control p.c.b. M08-M23
	Pump P 203 DC with control p.c.b. H
	Pump P 203 Reservoir Conversion sets
	Identification Codes P203 
	pump variants P 203 DC,
with and without control p.c.b. V10-V13, V20-V23, H
	pump variants P 203 AC,
with and without control p.c.b. V10-V13, V20-V23, H
	pump variants P 203 DC,
with control p.c.b. M08-M23
	pump variants P 203 AC,
with control p.c.b. M08-M23

	Assemblies for pump model 203

	Electrical Central Lubrication Pump P223/233 
	Pump P 223 DC with control p.c.b. MF01/02
	Pump P 233 DC with control p.c.b. MDF01
	Pump P 233 AC with control p.c.b. MDF01
	Identification Codes P223/233 
	DC Pump Models P223 & P233
with control p.c.b. MF01/02 and MDF01
	AC Pump Models P223 & P233
with control p.c.b. MF01 and MDF01


	Hand-Operated Central Lubrication Pumps
	Pneumatically Operated Central Lubrication Pumps
	Progressive Metering Devices SSV, SSV M, SSV D & Connecting Elements
	Identification Codes SSV/SSVM 
	Progressive Metering Devices SSV
& Connecting Elements
	Progressive Metering Device SSV M

	SSV inlet fittings, screw type
	Identification Code Connecting Elements
	Identification Code Quicklinc 
	SSV / SSV M / SSV D - Quicklinc - Inlet fittings, push-in type
	SSV / SSV D - Outlet fittings with check valve, screw type
	Closure Plugs
	Other Fittings
	Connecting Elements, Screw-Type
	Quicklinc Connecting fittings, push-in type
	Quicklub Accessories
	Lines and Accessories

	Accessories for Central Lubrication Pump Models 203
	Pressure Relief Valves
	Identification Code – Pressure Relief Valves

	Accessories
	Electrical Accessories
	for Central Lubrication Pump Model 203 without Control
	for Metering Device Model SSV

	Accessories for SSV Metering Devices
	Accessories for Manually Operated Systems

	Tools
	Filling Pumps for Cartridge Filling
	Pump, Hand-Operated
	Drilling Templates
	Operating Instructions
	Dimensions
	Pump 203
	Pump 223/233
	Attaching Boreholes
	Metering Devices Model SSV 6 to SSV 22
	Metering Devices Model SSV M 6 to SSV M 12
	Metering device model SSV D 6 to SSV D 22
	Fittings
	Brackets
	Brackets and Mounting Elbows

	Weights

	Lincoln worldwide




